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Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 5944591732
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592016
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 59445943626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the "Losoong" festival celebrated in India?
Options :

1. #® Arunachal Pradesh

2. % Kerala

3. # Tamil Nadu

4. ¥ Sikkim

Question Number : 1 Question Id : 59445943626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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YR & "ARET" ST Hal HART STl 82
Options :

1. % 30T U™

2. %

3. % TG

4.  Rofdmn

Question Number : 2 Question Id : 59445943627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what district of Andhra Pradesh is the Kuchipudi village located?
Options :

1. ¥ Amaravati

2. % Kurnool

3. ¥ Krishna

4. ® Vishakhapatnam

Question Number : 2 Question Id : 59445943627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRy g iy v w & fobe e 7 fRud 32
Options :

1. % SERTAd!

2. % P

3. U

4. % fIRIRATIH

Question Number : 3 Question Id : 59445943628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the folk dance of Maharashtra?
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Options :

1. #® Kolakattam
2. % Karakattam
3. ¥ Bhangra

4. ¥ Lavani

Question Number : 3 Question Id : 59445943628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafed & 3 S qeRTY &1 06 Td 87
Options :

1. % DIADHEH

2. & HRIDSH

3. % YATSI

4. ¢ QArquit

Question Number : 4 Question Id : 59445943629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Fiscal Responsibility and Budget Management Act was enacted in which year?
Options :

1. % 2006

2. % 2000

3. % 2014

4. % 2003

Question Number : 4 Question Id : 59445943629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fot ITRaIRIE 3R Soie Yaey iffgd forg v & i fasar mar ur

Options :
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1. % 2006
2. % 2000
3. %2014
4. 2003

Question Number : 5 Question Id : 59445943630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the practice of showing budget deficit discontinue in India?
Options :

1. % 2014-15

2. ¥ 1997-98

3. % 2002-03

4. % 2010-11

Question Number : 5 Question Id : 59445943630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR § Soic 91el foa™ &1 041 6 d 3¢ §8?
Options :

1. # 2014-15

2. ¥ 1997-98

3. % 2002-03

4. % 2010-11

Question Number : 6 Question Id : 59445943631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What material is used for coating Non-stick cooking utensils?
Options :

1. ¢ Teflon

2. % PVC
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3. # Black Paint
4. ® polystyrene

Question Number : 6 Question Id : 59445943631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A-RC® GHT U & Tl DI DI B o [T ford AT HT FUANT [T STl 62
Options :

1. ¢ ORI

2. % Ui

3. % BT

4, % GRS

Question Number : 7 Question Id : 59445943632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tamarind is the natural source of which of the following acids?
Options :

1. ¢ Tartaric acid

2. % Acetic acid

3. # Oxalic acid

4. ® Oxalic acid & Acetic acid

Question Number : 7 Question Id : 59445943632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g FEfaRed 7 9 frg sid &1 Ui fad did /2

Options :

1. ¢ TSP 3
2. % TRyfed 3
3. % 3oIieldh 3



Adda 2 l'l 7 GGESL%'\ie Play

4. % 3faIfcIed 30 Ud TRIfed 3

Question Number : 8 Question Id : 59445943633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Indus Water Treaty signed between India and Pakistan?
Options :

1. # 1970

2. % 1983

3. %1947

4. ¥ 1960

Question Number : 8 Question Id : 59445943633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR 3R U= & aita Ry oa I oR g¥aner & fosa 71am o1
Options :

1. # 1970

2. % 1983

3. % 1947

4. ¥ 1960

Question Number : 9 Question Id : 59445943634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the World's largest and fastest growing Delta?
Options :

1. ¥ Kaveri Delta

2. # Godavari Delta

3. % Sunderban Delta

4. ® Krishna Delta
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Question Number : 9 Question Id : 59445943634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o 1 3y &1 Ja8 987 3R a9 doll I F¢- Il Seel 82
Options :

1. % P Seel
2. % TMGIaR] el
3. ¥ garad Sl
4. % HUT Seel

Question Number : 10 Question Id : 59445943635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Humayun begin his rule as the Mughal emperor?
Options :

1. ¥ 1530

2. % 1532

3. % 1534

4. % 1536

Question Number : 10 Question Id : 59445943635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U A QI GUIE & B0 30T I bl a8 = {1 U1
Options :

1. ¥ 1530

2. % 1532

3. % 1534

4. % 1536

Question Number : 11 Question Id : 59445943636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following movements was Basavanna known for?

Options :

1. ® Vaishnavism
2. ¥ Virashaivism
3. # Buddhism

4. ® Jainism

Question Number : 11 Question Id : 59445943636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Srael b FafeiRad # Y fobd siigie o fore ST S ur?
Options :

1. % qUig

2. ¢ dRRIGaTG

3. % i

4. % S

Question Number : 12 Question Id : 59445943637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Hindu College established in Banaras?
Options :

1. % 1785

2. % 1767

3. % 1654

4. ¥ 1791

Question Number : 12 Question Id : 59445943637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Adda 2 "I 7 GGESL%'\ie Play

TRY # fg Hicrel ! RiuHT fhw av gs o
Options :
1. % 1785
2. % 1767
3. % 1654
4.9 1791

Question Number : 13 Question Id : 59445943638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what year was the Citizenship Act enacted in India?
Options :

1. % 1950

2. %1947

3. ¥ 1955

4. % 1948

Question Number : 13 Question Id : 59445943638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR B ANTRG AT T e a8 s 1 41
Options :

1. % 1950

2. % 1947

3. ¥ 1955

4. % 1948

Question Number : 14 Question Id : 59445943639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What Article of the Indian Constitution provides for organization of Village Panchayats?
Options :
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1. % 39
2. % 39A
3. % 48
4. ¥ 40

Question Number : 14 Question Id : 59445943639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT HAUT BT B AT 3Twde A Uardi & A6 & foll UaH HRdl g2
Options :

1. % 39

2. % 30A

3. % 48

4. ¥ 40

Question Number : 15 Question Id : 59445943640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following received the Nobel Peace Prize 20207
Options :

1. # World Health Organization

2. # United Nations Security Council

3. ® World trade organization

4. ¥ World Food Programme

Question Number : 15 Question Id : 59445943640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad O 9 ford Aidd Mifd REBR 2020 U §3H12

Options :
1. % fay Ty e
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2. % g Y JR&f uRuq
3. % {3y IUR W16
4. ¢ T3y T HrAHH

Question Number : 16 Question Id : 59445943641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the author of the book - Indians: A Brief History of a Civilization?
Options :

1. ¥ Namit Arora

2. % Ramchandra Guha

3. # Neha sinha

4. ® NV Ramana

Question Number : 16 Question Id : 59445943641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o 9 oH gids "3f$d9: TSt R ot T Rifdarso e & o 62

Options :

Question Number : 17 Question Id : 59445943642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the 48th Chief Justice of India?
Options :

1. ¥ SA Bobde

2. % DY Chandrachud
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3. ¥ NV Ramana
4. ® Deepak Misra

Question Number : 17 Question Id : 59445943642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRA & 489 T TN DIH 82
Options :

|. % THU SIS

2. % a1 dgds

3. ¢ THdT THAT

4. % dueh foe

Question Number : 18 Question Id : 59445943643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which State was declared as a model state for Van Dhan Vikas Yojana?
Options :

1. ® Mizoram

2. ¥ Manipur

3. ¥ Meghalaya

4. ® Sikkim

Question Number : 18 Question Id : 59445943643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I o fdepT o1 o fore fobe I 1 3i1e Iy ity foban wam
Options :

1. % foreiRe

2. ¢ HOIR

3. % HYTe™
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4. % RyfgmH

Question Number : 19 Question Id : 59445943644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which cricketer is known to have the highest batting average in International Test Cricket?
Options :

1. # Steve Smith

2. % Virat Kohli

3. % Don Bradman

4. % Sachin Tendulkar

Question Number : 19 Question Id : 59445943644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fopdre BT SR ¢ fobdhe H Yol TG SecialToit SHINId o fo ST Srell &2
Options :

1. % Wa fary

2. % fRTC DIl

3. ¥ S ST

4. % GhA dgam

Question Number : 20 Question Id : 59445943645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tennis player Roger Federer belongs to which of the following countries?
Options :

1. # Serbia

2. ¥ Switzerland

3. % Spain

4. % USA
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Question Number : 20 Question Id : 59445943645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ TSt AR e Fafdiad # 9§ fobw 4w 9 Heifdd 82

Options :

1. ® e

2. ¢ RaeeRds
3. % W

4, % TRIDI

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

General Ability

2
5944591008
0

0

No

No

0

20

No

General Ability

5944591733
1

Online
Mandatory
20

20

20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592017
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 59445943646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

EJ7,HP10,KV13,?
Options :

1. ¥ NB16

2. % NG16

3. # SAl6

4. % BD17

Question Number : 21 Question Id : 59445943646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu e fawedl & O, 907 & g ug &1 J1d Be |

EJ7 ,HP10,KV13,?
Options :

1. ¥ NB16

2. ¥ NG16

3. # SA16

4. % BDI17

Question Number : 22 Question Id : 59445943647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter cluster in the series.
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WVU, RQP, MLK, ?
Options :
1. ¥ HGF
2. % AVF
3. % ADC
4. % SVD

Question Number : 22 Question Id : 59445943647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T faemeal & 4, 9oft & qw 3feR T9g &I I1d R

WVU, RQP, MLK, ?
Options :
1. ¥ HGF
2. % AVF
3. % ADC
4. % SVD

Question Number : 23 Question Id : 59445943648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the odd one out from the given alternatives.
Options :

1. ® CIVIC

2. % LEVEL

3. ¥ COSMIC

4. ¥ REVIVER

Question Number : 23 Question Id : 59445943648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
31&RT & AT TTY o ¥ fawd ue o1 94|
Options :

1. ¥ CIVIC

2. ¥ LEVEL

3. ¥ COSMIC

4. ¥ REVIVER

Question Number : 24 Question Id : 59445943649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word pair in which the two words are related in the same way as are the two words in the following word pair.

Goldsmith : Gold
Options :

1. ¥ Carpenter : Wood
2. # Singer : Piano

3. # Postman : Delivery
4. % Stone : statue

Question Number : 24 Question Id : 59445943649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ee-TH P T Px [orH &l Xeg I4T aRe ° Fafd § o foh Ffeied wreg-gm o 3l wreg 9&fid g
AR : I

Options :
1.¢?a"qr§:aﬁf
2. % TS : fUgEL
3. % gifehar : faarum
4. % g : gfdHm



Adda 2 l'l 7 &Eggaie Play

Question Number : 25 Question Id : 59445943650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

AZB:BYC::CXD:
Options :

1. ¥ DWE

2. ¥ DEF

3. % YOG

4. ¥ FRE

Question Number : 25 Question Id : 59445943650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fGT T faspetl & @ Hefdd 3iaRi o1 7= B |
AZB :BYC::CXD:

Options :

1. ¥ DWE

2. % DEF

3. ¥ YOG
4. % FRE

Question Number : 26 Question Id : 59445943651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code, 'GROWTH' is coded as '594617' and 'THYRIDE' is coded as '1789302'. In the same code how will ' WORTHY ' be coded as?
Options :

1. % 496178

2. % 649120

3. ¥ 649178

4. ® 640278



Adda 2 "I 7 E‘Eggaie Play

Question Number : 26 Question Id : 59445943651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FAf3d Fe U & 'GROWTH ' &1 '594617' 3R ' THYRIDE ' &1 '1789302' % &0 H feRal ST € | IHH He U &' WORTHY ' &I vl
fera S

Options :

1. % 496178

2. % 649120

3. ¥ 649178

4. % 640278

Question Number : 27 Question Id : 59445943652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class among the passed students, Ruhi is 22nd from the top and Rashim, who is 5 ranks below Ruhi is 34th from the bottom. All the students
from the class appeared for an examination. If the ratio of the students who passed in the examination to those who failed is 4 : 1 for the class,
how many students were there in the class?

Options :
1. % 90
2. % 60
3.9 75
4. % 80

Question Number : 27 Question Id : 59445943652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH ST A I BE A T, o SW T 220 M W 3R IRM, o T F 53 714 7, T 340 UM R g1 Hem 3 gt St 3 uden <&
Y| gfe B S uter & I<ivl gU SR g8 o Sxiol U, I&T Ul 4 : 1 §, Hef H $d foba- & 4 2

Options :

1. % 90

2. % 60
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3.¥ 75
4, % 80

Question Number : 28 Question Id : 59445943653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y, Z, P, Q and R are sitting in a row facing north. X is the neighbour of Y and P. Q is the neighbour of Z and R. P is to the right of X and P and
Z are immediate neighbours.

Then how many persons are between X and Q?
Options :

1. ¥ Two

2. % Four

3. % Three

4. ® One

Question Number : 28 Question Id : 59445943653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X,Y,Z,P,QARRUG U A SR P IR TE IRP dS &1 X,Y SIRP HT TSN 81 Q, Z AR R BIUSRA § | P, X P i 3R g AU P 3R
7 T% TR & Adpear tSHil B

X 3R Q & 7e b e B9
Options :

.Y gl

2. % IR

3. % G

4. % U

Question Number : 29 Question Id : 59445943654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
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even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
No cake is a bun.
No bun is a pen.

Options :

1. ¥ Some cakes are pens

2. # Some pens are not cakes
3. % All cakes are pens

4. ¥ No bun is cake

Question Number : 29 Question Id : 59445943654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR feumuuy 8 Y & 91¢ fawel & IR Fspy QU M €1 3! fou T8 Sy o) I 791 8, Hal 81 3 Idad gt & et ucfia
gid gi | it sl ol ufgu fihr o sifort o fou T fAepsll & § oI 1 dehaiTd $U I 38R0l HRd1 &, 918 JawTd 9 $& Hi 8l

hY:

DS b, 7781 8
CAMCEREE ]
Options :

1. % $T PP, U8

2. % U, Pob IS &
3. % i o, U7 8

4. ¥ BIS 97, S Tl &

Question Number : 30 Question Id : 59445943655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by two conclusions. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
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All kid are Adult.
Some Adult are old.

Conclusion:
I. All old are kid.
II. Some kid are old.

Options :

1. # If only conclusion I follows

2. % If only conclusion II follows

3. # If either conclusion I or II follows

4. ¥ If neither conclusion I nor II follows

Question Number : 30 Question Id : 59445943655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- fau U Uy § & U 3R 39 91¢ & FhY 3T U g1 SMuah! 3T TN ST &1 I AT § A &) d JaTd ol § et vreltd g1 gl
it et &t ufe T fihR ag SIfvTe fah AT e fAsem ol & O &1 1 dh i 34U ¥ 38R0 BT 5, IMe JawTd a2 & i gl

hY:
gyt 5=, TP B
O D, T ¢

ﬁmingéqﬁ T
ii.%ﬁ:@iﬂc%!l

Options :

1. % e Bad FspY | 3R AT 8

2. % TfE Had BT 11 SITRUI Rl §

3. % gfe a1 fshy 1 97 11 R0 Bl §

4.« gie T a1 fAepd 1 IR 7 81 11 SFaR0I HRdT §

Question Number : 31 Question Id : 59445943656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Adda 2 l'l 7 GGETJL%'\ie Play

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statement:
Q<B<P>R>A>C

Conclusions:
I.B>C
I.C<P

Options :

1. # If only conclusion I follows

2. ¥ If only conclusion II follows

3. # Ifeither conclusion I or conclusion II follows

4. % If neither conclusion I nor conclusion II follows

Question Number : 31 Question Id : 59445943656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U Uy H, Y # fAfie 3rqudl & o9 ey ol ST T &1 HYT & 915 ol sy fau 7w §1 3T U $Y9 & 3nyR R st &
T B 3R Ifad I B gL

DY
Q<B<P>R>A>C

frpy-
. B>C
II.C<P

Options :

1. % gfe Had (sh [ IR0 FRl §

2. ¢ TG Had (BT 11 SR el §

3. % gfg a1 dl e 1 a1 e 11 SFRRUI R §

4. % g A e 1 3R 7 € Fsh 11 SR el §
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Question Number : 32 Question Id : 59445943657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related number from the given alternatives.

147 : 741 ::236:632::869 :?
Options :
1. % 896
2. ¥ 968
3. % 689
4. % 986

Question Number : 32 Question Id : 59445943657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau T fawedl o § defid W& &1 gt
147 : 741 ::236:632::869 :?

Options :

1. % 896

2. ¥ 968

3. % 689

4. % 986

Question Number : 33 Question Id : 59445943658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

2,3,6,15,42,?
Options :

1. % 84

2.¥ 123
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3. % 94
4. % 60

Question Number : 33 Question Id : 59445943658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et <t it 9oft 7 o e I B |

2,3,6,15,42,?
Options :

1. % 84

2.¥ 123

3. % 04

4. % 60

Question Number : 34 Question Id : 59445943659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each circle represents a class of objects/ideas written below, then find out the answer figure which illustrates the best relationship among.

“Criminals, Pick-pocketers, Arsonists "
Options :

©

2. ¥
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©

3. %

4. %

Question Number : 34 Question Id : 59445943659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e YA g A 3T 7T axgeil/faar! &1 gxifdl &, O a8 STR 31 id J1d $X 6l (9 & el 9gaR 9= &l g¥iu|
" JRTR, STTH AR, TS B arel”

Options :

Q)

2.¥
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©

4. %

Question Number : 35 Question Id : 59445943660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, Rectangle represents Dogs, Triangle represents Stray dog, Hexagon represents Cat and circle represents Black cat. Which
set of numbers represents Dogs which are Black cat and cat?

1
3
[\
Options :
1. % 6,7
2.¥7
3.% 1,4

4. %9
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Question Number : 35 Question Id : 59445943660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad siefa #, Siad $al & a8, By MarT $<il &I ST 8, YU facel &) GITdI | 3R gd dTal facel &I G-I g | 3l
BT DI I TG HII DI STdT § o Tl foeen AR et g2

Options :
1. % 6,7
2.9 7
3.% 1,4
4. %9

Question Number : 36 Question Id : 59445943661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One morning Kush and Harshal were talking to each other face to face at a crossing. If Harshal's shadow was exactly to the left of Kush, which
direction was Kush facing?

Options :
1. ¥ East
2. % West
3. ¥ North
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4. % South

Question Number : 36 Question Id : 59445943661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T% Yo8 $I 3R Y U IRI8 R THA-ITH 1 B I8 U1 TS g9 &1 RIS, U P o1 ag 3R o, O $1 &1 49 forg fg=m & 4
Options :

1. % d

2. % Uigy

3. ¥ 3R

4, % fgor

Question Number : 37 Question Id : 59445943662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related figure from the given alternatives.

Question figures:

BN E
1_I"
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(_L.I.
._I'T
1

Question Number : 37 Question Id : 59445943662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad oy, feu e famedl § wrafRid sndpfd &1 7g < |
Ioa¥ IMpfoaT:

e EE
l_I"
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2.
3. %

S|
4. %

Question Number : 38 Question Id : 59445943663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Question figures:

AT
Y

/X

l.x“?""'
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LB

=3
L

&

Question Number : 38 Question Id : 59445943663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DHIH-T IR NP, T MBI P U Bl T BRI

4. %

Options :

/X

1. ¥
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3. %

Question Number : 39 Question Id : 59445943664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?

Options :
1. % 10
2.¥ 11
3.% 12
4. % 14

Question Number : 39 Question Id : 59445943664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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&1 73 Spia H fhan AysT 82

Options :
1. % 10
2.¥ 11
3. % 12
4. % 14

Question Number : 40 Question Id : 59445943665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Determine the option figure which is hidden inside the question figure.

Options :
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3. %

4.9

Question Number : 40 Question Id : 59445943665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadheq SHia &1 J1d HITOTT S T TP & 3R [ g2 B

Options :
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Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Arithmetic Ability

3
5944591009
0

0

No

No

0

20

No

Arithmetic Ability

5944591734
1

Online
Mandatory
20

20

20

Yes

1
5944592018
Yes

GET IT ON

Google Play

Question Number : 41 Question Id : 59445943666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Adda

e

7

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

40 percent of 540 + 182 = ? percent of 1200:

GET IT ON
Google Play

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
1.25
2.30
3.45
4.40

Question Number : 41 Question Id : 59445943666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu U o © Uy g (2) & RIF TR T ST

540 BT 40 UTARId + 182 = 1200 BT ? UfARId:

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
1.25
2.30
3.45
4.40

Question Number : 42 Question Id : 59445943667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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What will come in the place of question mark (?) in the given expression?

(\X 45 + /64 ) percent of 4600 =?

Options :
1. # 450
2. % 350
3. %270
4. ¥ 322

Question Number : 42 Question Id : 59445943667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U o O Uy g (2) b RIF TR T ST

4600 FT (J 45 + /64 ) ufaea =2

Options :
1. % 450
2. % 350
3. % 270
4. v 322

Question Number : 43 Question Id : 59445943668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the largest fraction of the following fractions?
Options :
405
1. % 312
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a5
58

92

212

4 105

Question Number : 43 Question Id : 59445943668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frgfeRad il & 3 Tl st el 71d pifere?
Options :

405
1. ® 312

a5
58

92
3 85

212

4 105

Question Number : 44 Question Id : 59445943669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

How many numbers are there from 30 to 280 (including both these numbers) which are divisible by either 5 or 7?
Options :

1. % 71

2. % 87

3. % 69

4.¥ 79

Question Number : 44 Question Id : 59445943669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 9 280 (31 qIHI T afed) & o9 fora G &, S ardh 5 a1 7 2 fyuiford gia 82
Options :

1. % 71

2. % 87

3. % 69

4. v 79

Question Number : 45 Question Id : 59445943670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The HCF and LCM of two numbers are 18 and 108 respectively. If the sum of the two numbers is 90, then find the difference between the both
numbers?

Options :
1. % 36
2. % 27
3.¥ 18
4. % 9

Question Number : 45 Question Id : 59445943670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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&l T3l T HETH YHIAS SR TYTH JHTIAD HH: 18 3R 108 81 Al g1 SeHTSf &1 aiT 90 €, <l i1 SRearsfi &1 3R J1d
DIfTL?

Options :

1. % 36

2. % 27

3.¥ 18

4.% 9

Question Number : 46 Question Id : 59445943671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A batsmen's average increased from 34 to 37 after scoring some runs in his 31st innings. Find the runs scored by him in his 31st innings.
Options :

1. % 87

2. % 97

3. % 117

4. ¥ 127

Question Number : 46 Question Id : 59445943671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 A UK $6 ¥ 99 & §TG U Jeaialo] Bl SNId 3 34 § 9 DR 37 81 11 31 & IR & b gRT §-1E T 3] 1 1 B |
Options :

1. % 87

2. % 97

3. % 117

4.+ 127

Question Number : 47 Question Id : 59445943672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the percentage increase in the surface area of a cube if each edge is increased by 12.5 percent.
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Options :

1. # 12.5 percent
2. % 25 percent
3. # 37.5 percent
4. ¥ 26.5 percent

Question Number : 47 Question Id : 59445943672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T o9 Bt TP YT | 12.5 Ufawrd & 3fG St 8, Ot 3Ub NI 8% d | g3 Uiawrd gfs I1d &2
Options :

1. % 12,5 gid=rd

2. % 25 YfaRrd

3. % 37.5 Ufa=rd

4. ¥ 26.5 U=

Question Number : 48 Question Id : 59445943673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

45 litres of a mixture of milk and water contains 15 percent water. How much water must be added so as to make water 25 percent in the resultant
mixture ?

Options :

1. ® 8 litres
2. ¥ 6 litres
3. ® 4.5 litres
4. % 9 litres

Question Number : 48 Question Id : 59445943673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QY 3R Ut & 801 o 45 e | 15 Ufawra urit giar g | uRome fsor & o &1 25 ufawrd s9F & forg fosamn urt foraman s e

Options :
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1. % 8 qeR
2. ¥ 6 IR
3. % 45WR
4. % 9flex

Question Number : 49 Question Id : 59445943674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hritik bought a car with a 50 percent discount on the Cost price of the car. Had he got 60 percent discount, he would have saved Rs 100000.
Calculate the Cost price of the car.

Options :

1. ¥ Rs.10 lakhs
2. % Rs.12 lakhs
3. # Rs.16 lakhs
4. ® Rs.15 lakhs

Question Number : 49 Question Id : 59445943674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rfd® 7 SR & B T W 50 YA g & 916 R WiIal | i I 60 Ufa=rd &t e Add, @ 98 100000 T9Y G201 AdT | HR & hd T
CARIVEIERY

Options :

1. ¢ 10 dRG 3T

2. % 12 ARG 3T

3. % 16 TG 39T

4. % 15 ARG 3T

Question Number : 50 Question Id : 59445943675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q entered a partnership and invested in the ratio 4:9 and for time periods in the ratio 3:8. If P's share out of total profit is Rs. 332, what is
the total earned profit?



Adda 2 "I 7 GGESL%'\ie Play

Options :

1. ¥ Rs.2164
2. % Rs.2284
3. ¥ Rs.2324
4. % Rs.2460

Question Number : 50 Question Id : 59445943675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3R Q Ueh USRI H 4 : 9 & U H FAAW A & AUTT 3 : 8 & AU B! THY 3afY & o A HRa €1 A O A T F p T IR
332 ¥ §, O Ha 3ffold farar mar ar feamn g2

Options :

1. % 2164 307
2. % 2284 30T
3. ¢ 2324 300
4. % 2460 3UY

Question Number : 51 Question Id : 59445943676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Maria's age 10 years ago was half of her age 5 years hence, then what will be the age of maria after 2 years?
Options :

1. # 26 years

2. % 28 years

3. ¥ 27 years

4. % 24 years

Question Number : 51 Question Id : 59445943676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 10 o gga AT &1 31 3 5 af a1g ITDT g H1 3n1ef off, Y 2 auf a1g AT BT Mg T BN

Options :
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1. % 269y
2. % 289y
3.4 27498

4. % 249

Question Number : 52 Question Id : 59445943677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Roli deposited Rs 15000 in IDFC bank which offers 6 percent interest rate which is compounded semi - annually. What amount will Roli get after
2 years?

Options :

1. # Rs.17217
2. ¥ Rs.16882
3. % Rs.17544
4. % Rs.16524

Question Number : 52 Question Id : 59445943677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AH 7 IDFC & T 15000 FUA ST foram o IR I 6 wfa=ra saret fireran § i siel-anffes aR R ashgfad glar g1 2 auf &g el o)
eRTIRT fiett?

Options :

1. % 17217 399

2. ¥ 16882 TTY

3. % 17544 300

4. % 16524309

Question Number : 53 Question Id : 59445943678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train crosses a person who is running towards the train with speed 10 m/s in 12 seconds. If the length of the train is 420 m, then what is the
speed of the train (in km/hr)?
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Options :
1. % 60
2. % 45
3.9 90
4. % 50

Question Number : 53 Question Id : 59445943678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 HeX b s B Tfd T Teb kT ¢ Bt 3R alsd U 3T & B o 12 s B UR Bl ¥ A ST ) dals 420 Hiex 8, A ST 1 1
foret gt (ratie= eer #)2

Options :

1. % 60

2. % 45

3.990

4. % 50

Question Number : 54 Question Id : 59445943679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Speed of a boat in standing water is 9 kmph and the speed of the stream is 1.5 kmph. A man rows to a place at a distance of 105 km and comes
back to the starting point. Find the total time taken by him ?

Options :

1. #® 16 hours
2. % 18 hours
3. # 20 hours
4. ¥ 24 hours

Question Number : 54 Question Id : 59445943679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

38X U U H T 1d &1 T1fd 9 fopet Tifdy det ofR U1 1 71t 1.5 fotft i ieT 81 Uap e 105 fhe &t gl IR U o8 TR oIl @ S8R
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YB3 fofg TR AT AT § | 31 g1 ord 11 el THd J1d He?
Options :

1. % 169C
2. % 18%C
3. % 20¢
4. ¥ 249C

Question Number : 55 Question Id : 59445943680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 men can complete a work in 18 days. Find the time taken by 18 women to complete the same work provided that women are 25 percent less
efficient than that of men.

Options :

1. % 20 days
2. ¥ 16 days
3. # 15 days
4. % 18 days

Question Number : 55 Question Id : 59445943680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 T3 U M &1 & H 18 G T g1 18 Afeansii gRT THH B GRT =+ o o Fordm a1 90T J1d B 9% b A AT Gos! o
qorH1 H 25 Ufa=rd &9 $RId |

Options :

1. % 20fea

2.¢ 16eF

3. % 15f8q

4. % 1837

Question Number : 56 Question Id : 59445943681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Radius of two cylinders are in the ratio 3 : 2 respectively and their heights are in the ratio 4 : 3 respectively. What is the respective ratio of their
volumes?

Options :
1. % 3:2
2. % 2:1
3.%6:5
4.¢3:1

Question Number : 56 Question Id : 59445943681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& ST B AT HHRT: 3 : 2 P SIU B g 3R P! $HaTs HHRL: 4 : 3 % U | g | 3 T BT A& fd SUTd fbaT 82

Options :

1.%3:2

2.% 21
5
1

3. % 6
4.4 3

Question Number : 57 Question Id : 59445943682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an equilateral triangle ABC, AD is a median and G is the centroid. If GD =
34/3 cm. then what is the area of triangle ABC?

Options :
| % 72V3 e

) % 81 cm?

3 % 72 cm?
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4 Blwﬁ cim

Question Number : 57 Question Id : 59445943682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ueh HHATG 35T ABC H, AD U HITEAH 3R G degeh 81 A6 GD =343
AL, A BIsst ABC T &13%hel fehciell &7

Options :

| ® 7243 aA A
5 x 81EA QA

72 @t AL

3. %

4 v SWIETAA

Question Number : 58 Question Id : 59445943683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number of students appeared in TGT examination from five schools over the years
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School —
Year
2004 650 | 700 | 820 | 800 | 780
2005 J000| 740 | 860 | 780 | 740
2006 300 | 820 | 940 | 750 | 730
2007 750 | 880 | 920 | 840 | 790
2008 350 | 840 | 900 | 860 | 770

A B C D E

Number of students appeared from school E in 2004 is approximately what percent of the total number of students appeared from all the schools
together in that year?

Options :
1. % 12
2. %28
3. % 15
4. ¥ 20

Question Number : 58 Question Id : 59445943683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aul & U Gl U Coie! TRIE | 93+ aTd S Bt Al

H":ﬂ'—r
oy

2004 650 [ 760 | 820 | 800 | 780
2005 700 | 740 | 860 | 780 | 740
2006 800 [ 820 [ 940 [ 750 | 730
2007 750 | 880 | 920 | 840 | 790
2008 850 [ 840 [ 900 [ 860 [ 770

A B C D E

2004ﬁgp—dE@rHﬁﬁ%ﬁrEﬁmﬁma‘faﬁmwﬁﬁﬂﬁwﬁﬁwwaﬂﬁﬁaﬁﬁmwﬁﬁmmwmm
af=Id g2

Options :

1. ¥ 12
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2. % 28
3. %15
4. % 20

Question Number : 59 Question Id : 59445943684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number of students appeared in TGT examination from five schools over the years

School — A B c D B
Year B
2004 650 | 760 | 820 | 800 | 780
2005 T00 | 740 | 860 | 780 | 740
2006 300 | B20 | 940 | 750 | 730
2007 750 | 880 | 920 | 840 | 790
2008 350 | 840 | 900 | 860 | 770

What is the average number of students appeared from school B for all the years?
Options :
1. % 828
2. ¥ 808
3. ® 804
4, % 812

Question Number : 59 Question Id : 59445943684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

auf # Ui wpal § SIS ulten § 961 arel ol &1 g
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HT —
a¥

2004 650 [ 760 | 820 | 800 [ 780
2005 700 | 740 | 860 | 780 | 740
2006 800 [ 820 [ 940 [ 750 [ 730
2007 750 | 880 | 920 | 840 | 790
2008 850 [ 840 [ 900 [ 860 [ 770

A B C D E

it auf & wpd B ¥ Wferd 89 ard BT @) S T fahat 82
Options :
1. # 828
2. ¥ 808
3. % 804
4. % 812

Question Number : 60 Question Id : 59445943685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following line graph shows the number of items sold by two shopkeepers in five different months.



Addai247 Eooale Play

500 \ / \

Ty %
P . "W T
350 \\// \/

300 T . T . .
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Find the difference between number of items sold by Madan in January and number of items sold by Mohan in May.
Options :

1. % 40

2. % 55

3. % 35

4. ¥ 60

Question Number : 60 Question Id : 59445943685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 T SR Ui 31T HE ! H & ghHaR] gRT 9t 75 avd il o1 e &l a=idr g |
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Options :
1. % 40
2. % 55
3. % 35
4. ¥ 60
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General Hindi
Section Id : 5944591735
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592019
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 59445943686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG & & $F-91 g THN &1 IG60I 82
Options :

1. ¢ JHHW]

2. % eI

3. % SHSId

4. % ygHid

Question Number : 61 Question Id : 59445943686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffafRed o 9 SH-91 g5 THN &1 3180l 82
Options :

1. ¢ JHHW]

2. % Fqavc]
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3. % SO
4. % yguig

Question Number : 62 Question Id : 59445943687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fREferfead & 9 S Treg &1 T HIfTT-
Options :

1. % 3fqrdd

2. ¥ DU

3. % TR

4, % Tg4qH

Question Number : 62 Question Id : 59445943687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfeRad H T <3S W BT I HIfole-
Options :

1. % 3fqrald

2. ¥ HUN

3. % IR

4. % Qg

Question Number : 63 Question Id : 59445943688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRId o ¥ D1F-91 s =eaTdsd 94 g2
Options :

1. # g

2. % dg

3.% 9
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4V TS

Question Number : 63 Question Id : 59445943688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FERIRId O ¥ SH-91 SRegdrad a6 g2
Options :

1. % g

2. % dg

3.% 4

4.¥Y 38

Question Number : 64 Question Id : 59445943689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfeRad # @ o19-91 Xee; Aafaqars T3 BT 380l el 82
Options :

1. ® M

2. % 3H

3. ¢ delul

4. % DHTHTGH

Question Number : 64 Question Id : 59445943689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fr=fIied o 9§ HH-971 Xeg Afadarad I3 H1 3SRl 81 62
Options :

1. % H

2. % 3H

3. ¥ gl

4. % DTG
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Question Number : 65 Question Id : 59445943690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frfafed o 3 1H-91 Weg "Hoe ST qargard T8 82
Options :

1. % "

2. % Fd

3. % A

4. ¢ SR

Question Number : 65 Question Id : 59445943690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR o @ -9 Teq "Heedl" BT qargdr 81 82
Options :

1. % dH

2. % 9

3. % ™

4. ¥ YAR

Question Number : 66 Question Id : 59445943691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfRad A T SRTd/dHT Xeg o1 T DioTe-
Options :

1. ¥ Oiayg

2. % I

3. % dR

4. ® IR
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Question Number : 66 Question Id : 59445943691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Freferrae 9 R At TG 1 T -
Options :

1. ¢ Tgrag

2. % W

3. % dR

4. ® IR

Question Number : 67 Question Id : 59445943692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefafed & & e &1 fadv 2ree HIF-1 32
Options :

1. g

2. % ISHIgE

3. % JIDHIA

4. % fagf

Question Number : 67 Question Id : 59445943692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rrfad & @ e o1 R 2 SH.a1 22
Options :

1. TS

2. % TS

3. % gD

1. = P

Question Number : 68 Question Id : 59445943693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fou U ariw & fore 1 J O U Tsg &1 T9 pifoie-
R T a1 G A1 WS B oY

Options :

1. % IAMR

2. ¢ AHGBRY
3. %

4. % g

Question Number : 68 Question Id : 59445943693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U areiE & forg T o Q U Weg BT 99 PIfvTE-
SR &g 1 G ITTe WS B §1Y

Options :

1. % IAMR

2. ¢ JAAEDHRI
3. % T

4. % gl

Question Number : 69 Question Id : 59445943694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R & a1 a1 T BTa BT IaTeRUl 62

NECRIERESEERIT
Options :

1. % guf ydera

2. % 3~ Ydbld
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3. ¢ 3l YdHhId
4. % ggegHe Yddld

Question Number : 69 Question Id : 59445943694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R & a1 a1 T BTa BT IaTeRUl 62

NECRIENESEERIT
Options :

1. % guf ydera

2. % 31~ Ydbld

3. ¥ 301 Yd&dTd

4. % gdegye Yddld

Question Number : 70 Question Id : 59445943695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefeRad & 9 TifeiT 2rec &1 99 BifeTe-
Options :

1. % e

2. % RTH

3. % fiRig

4. ¢ GiHfd

Question Number : 70 Question Id : 59445943695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffead § 9 Ffet Wree &1 99 BifeTe-
Options :

1. ® IoC
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2. % TRATH
3. % iRIg
4. ¢ gl

Question Number : 71 Question Id : 59445943696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAefeiad 7 @ ©19-31 970 Yegars a1 82
Options :

1. % 310 Sfigd § I B

2. ¢ DT 3 {4 ST IHT I

3. % SN URYH BT, 98 I%hd sRT|

4. % TRY YT 98 B T8 BT |

Question Number : 71 Question Id : 59445943696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=faRad & ¥ HH-91 a9 degarad ared g2
Options :

1. % 31T Sffa | I~ B

2. ¢ DT 3 {4 S DT BN

3. % S URSH S, 98 I gRT|

4. % TRY TS T§ P Tg1 S|

Question Number : 72 Question Id : 59445943697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAmferRad & 4 91 & UbR &1 Ig DIfoT-
g BT Wia i st 3 X8 1

Options :
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1. ¥ Hgar
2. % HHATT
3. % Yrgary
4. % fafdar

Question Number : 72 Question Id : 59445943697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feferRad & I 91 & UBR &1 TG DIfoTT-
g g WiaHiH st 3 XE 7

Options :

Question Number : 73 Question Id : 59445943698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fafad § I fog gerak o1 8 i 1 ST HreAT 82
Options :

1. % 31l 1 Feil o

2. ¢ 3@l H d HreATl

3. % 3@l T T IaRAT

4. % 3@l & R SFERT BH

Question Number : 73 Question Id : 59445943698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fefad o § fog gerak &1 o "Rt I1d ST FleT 82
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Options :

1. % 31aEl H T«lf S|

2. ¢ 3@ ¥ Id HIe|

3. % i@l T G AR

4. % 3G} & M ART BT

Question Number : 74 Question Id : 59445943699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffaRad o © fog Maifda &1 o "qiad SRR B 8" 82
Options :

1. % YT 1 ST O

2. % JH WS I UC|

3. % Sff SIS |l PIeHT|

4. ¢ Qad e Bfa g

Question Number : 74 Question Id : 59445943699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfaRad o & fog dMaifaa &1 oif "qiad SRR Bt 8" 82
Options :

1. % YY1 =T 7ol g7 |

2. % GH W& IH UIc|

3. % Sl SIS Il HIehT|

4. ¥ SQAd I-Tdl Bld 5|

Question Number : 75 Question Id : 59445943700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

42 feu T gt & e A Q P13 fog &1 yanT fhar T 82
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TER (SE) Bl &) AR T Bl qanel § b US|
Options :

1. % JrgfR forg ud goifor™ fag

2. % IGRUI g Td guifaR™ g

3. ¢ HISed g Td quifar™ fag

4. ® IGRU I8 U4 3Rl g

Question Number : 75 Question Id : 59445943700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

42 feu T gt & e A Q -2 fomg &1 yanT fhar 82

X (J98) BId 81 AoIgx HH &I a1 § Hevd US|
Options :

1. % 3ffavd fug ud guifar™ fog

2. % IGRUI g Td quifR™ g

3. ¥ DIBH g Td Yuifar forg

4. % IGRU fog Ud IR0 forg

Sub-Section Number : 2
Sub-Section Id : 5944592020
Question Shuffling Allowed : Yes

Question Id : 59445943701 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

TR TTRIT=T ST ST gd® 378qa R U=AT & SR GIToTe-

T TeHR A B - U 715 ¢ | FoweR] SiR AT IR Wd-Tid 79 & 918 8R U & | IRT Sitad (S gl 8 | WH R &1
g g | ATIHA HiadT & 7919 a1 | STH YR SHH B TRIGRT A § | 59 T6d H SRd B1 UiTdl &1 3HId ¢ | 31§ dl U -4 UHR Bl
Harn eyl Fiiid-aifed TOR ¥ yaferd g1 aren g | afe a8 v Yaferd g o wRfiHl & ufedl & e qaes gH TR1 9He | I8 7
e AolgR! o gad ¥ F&HaT | 31 AOIgR] & &6 1 T8 -5 iddl (bl Sl 30 Sfiad | 3T o 14 d B He! &1, HUS &b YN P,
SId & Tih! 1, Adha! & TN BT HGHIE g HuT | =11 RR 3R =7 U, wﬁ%@ﬁ%ﬁﬁ@awmmwﬁmw
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9 ddhs! Ic B X6g 390 YW WRI I AT gl arga™ W 9¢ g4l fa=maf § THT Sigyd T T fo Ufas & FHefrawdl o fore agt
¢[Ug 3R AR BT HTH 7| e Ut o ot it gig grf awh 7w o3 Oer 217, a7 siiferal o1 Igd 8 Reg 3 99 & Ja ASigR &b
Y I TR | JIGTARUT, T SR i 311 & B 361 Aoigy B! & Ie | UG fead giil|

Sub questions

Question Number : 76 Question Id : 59445943702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR HolgR o g i FHiadl HR FHdl g |
Options :

1. ¢ 3SRI | e are Tifta & ey I
2. % Ry ¥ Feeq ara 1fid & A 9
3. % Hiaedl & AIEgq 9|
4. % YR S THT Y|

Question Number : 77 Question Id : 59445943703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEAfaRad & O D 1F-91 Teg “gYd” &1 Targard! el 62
Options :

1. % 3rgaH

2. % 3FQT

3. #® 3(dd

4. HHEY

Question Number : 78 Question Id : 59445943704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR, TS 7414 Tifie waferd Tal gen ol 4qs

Options :
1. % 4 g1 T HR |
2. % QTSN &1 A THR I8 S|
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3. % J13{l DT A SHDHR I8 SR
4. « ORI BT ATH §-THR I8 SR

Question Number : 79 Question Id : 59445943705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=ferRad & T gererT “o/ad & °Ig SIeMT &1 &1 31 g2
Options :

1. % 3G HR fad g

2. # 3ARIH HHR Al |

3. ¢ Had BT HIAT

4. % IR D! TG & [T Td qOR 3§

Question Number : 80 Question Id : 59445943706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR o SR, 7414 e &1 Wd fawg 3 & 9 o1 g
Options :

1. % a9 forue iR Fias ¥ W qoig |

2. ¥ TR o Sita H foerT e |

3. ® HSIGR- HEId 1 Teb |
4. % FSIGR] T HAYU! SiteH |

Question Id : 59445943701 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

TR TTRIT=T ST ST gd® 3180a R U=AT & SR GIToTe-

TR YgHR AT &Y FavaH-2ifdd U T8 | foRaRl SR A IR Wid-id H & 81S 8R 7T § | IRT Siia S g 8 | W A &l
g g | AT HiadT & FAT9 a1 | STH QR S B TRIGRT A ¢ | 59 96 H S7d B1 UIa=Tdl &I 3HTd ¢ | 31F dl T -4 UHR Bl
HATHIRAYU TITd-T1ed IR & Yaferd 814 a1l ¢ | afE a8 = Uaferd g al =M1 & Uigd! & -id GadbR g AT JAfY | Ig =7

e ASIgX] & gad d el | 39 AoIigR] & 6 | I8 s Hiddl Mdbe off 3 Sitad H 3 & 91 Wd &1 A1 BI, HUS & YN P,
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S & CID] BT, Adha! & TN T NEHId g T | 771 RR SR A7 Ui, 4@ ¥ fade SR fhae I I §T d 99iaM Hid ofd s § ddba! dblcd]
9 el Bl BT Teg b SR TR 4 TN G arga R 96 gul fexmsil & THT sigyd M & fob U™ & FHardwdl & ford ag!
YUG 3R AR $I B < Holl w01 41 o1 at 3ig gt avlt U oid Uar g1, a2t 1T Siiferdl &1 Sosd 81| TR A 99 & 9d HolgR &
S Y Tl | [GTERUI, GRdT 3R Hiadr e & B a1 HolgR B! & I H Ticerd giil|

Sub questions

Question Number : 76 Question Id : 59445943702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR HolgR Sofa g T Hiadl HR BT 8 |
Options :
1. ¢ 3ORI ¥ e are Ifta & Jred 91

2. % RAmnsli ¥ Fead ara 1id & Areq 9|
3. % Aisdl & A1eIH I
4. % SR & AT |

Question Number : 77 Question Id : 59445943703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEAfIRed & & SH-91 TTeg “3gyd &1 Targard! g1 87
Options :

1. % 3fquH

2. % 3T

3. ® 3{dd

4. ¥ qHY

Question Number : 78 Question Id : 59445943704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & IR, TG 7414 Aiied Taferd Tal g3 ol AJd

Options :
1. % 0 gt ATHS AT B A |
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2. % YIS DT TATH §HDHR I8 SR |
3. % J13{l DT A TDHR I8 SR
4. ORI &1 ATH SHR I SR

Question Number : 79 Question Id : 59445943705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=ferRad o & qererT “s/ad & °Ig SISMT &1 &1 31 g2
Options :

1. % JAd HR fad g

2. % AP HUGR Hfd |

3. ¢ Had HegATE BT

4. % IR DI YTl & foTE T daR 1|

Question Number : 80 Question Id : 59445943706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & IR, T e &1 T fova e & I a1 g
Options :

1. % 4d ¥ foae SR dias § ¥ AoigR |

2.« TSR] & Siia H faRaT < |

3. % HOIGR- HEd I Udb M|

4. % TOIGRI HT 4HYU Sia-|

General English
Group Number : 5
Group Id : 5944591011
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No
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Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 5944591736

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944592021

Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 59445943707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :
1. #® The world enter what could be a global lockdown, a slowdown in economic production.

2. % Computers makes it possible to erase time and distance through telecommunications, thereby giving us the freedom to choose the times and
places at which we work.

3. ¥ The rich will still fare better than the poor and it will stock up for the quarantine.

4. ® They will have access to medical services and personal doctors or the poor won’t have.

Question Number : 81 Question Id : 59445943707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :
1. #® The world enter what could be a global lockdown, a slowdown in economic production.

2. % Computers makes it possible to erase time and distance through telecommunications, thereby giving us the freedom to choose the times and
places at which we work.

3. ¥ The rich will still fare better than the poor and it will stock up for the quarantine.

4. % They will have access to medical services and personal doctors or the poor won’t have.

Question Number : 82 Question Id : 59445943708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

I can hear the bell ringing but nobody seems to be coming to opening the door.
Options :

1. # I can hear

2. % the bell ringing

3. # but nobody seems to be coming

4. ¥ to opening the door

Question Number : 82 Question Id : 59445943708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

I can hear the bell ringing but nobody seems to be coming to opening the door.
Options :

1. # I can hear

2. % the bell ringing

3. % but nobody seems to be coming

4. ¥ to opening the door
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Question Number : 83 Question Id : 59445943709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

A five-years-old law banning professionally assisted suicide has been rejected as unconstitutional by Germany's top court.

Options :

1. ® five-year-old laws
2. ¥ five-year-old law
3. # five-years-old laws

4. ® No substitution required

Question Number : 83 Question Id : 59445943709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

A five-years-old law banning professionally assisted suicide has been rejected as unconstitutional by Germany's top court.

Options :

1. # five-year-old laws
2. ¥ five-year-old law
3. # five-years-old laws

4. ® No substitution required

Question Number : 84 Question Id : 59445943710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

The endemic sleepiness found in adolescents is multi factorial with both intrinsic along with extrinsic factors.
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Options :

1. % both intrinsic and extrinsic factors
2. % both intrinsic as well as extrinsic factors
3. ¥ either intrinsic or extrinsic factors

4. % No substitution required

Question Number : 84 Question Id : 59445943710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

The endemic sleepiness found in adolescents is multi factorial with both intrinsic along with extrinsic factors.

Options :

1. % both intrinsic and extrinsic factors

2. ® both intrinsic as well as extrinsic factors
3. # either intrinsic or extrinsic factors

4. % No substitution required

Question Number : 85 Question Id : 59445943711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The pup is pure white for her black-skin ears, which have yet to grow their covering.
Options :

1. #® expect

2. % accept

3. # inspect

4. ¥ except

Question Number : 85 Question Id : 59445943711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The pup is pure white for her black-skin ears, which have yet to grow their covering.
Options :

1. # expect

2. % accept

3. # inspect

4. ¥ except

Question Number : 86 Question Id : 59445943712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

According to the 2001 Census, India has 30 languages that are by more than a million people each.
Options :

1. ¥ spoken

2. ® expressed

3. # mentioned

4. ® suppressed

Question Number : 86 Question Id : 59445943712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

According to the 2001 Census, India has 30 languages that are by more than a million people each.
Options :

1. ¥ spoken

2. % expressed

3. ® mentioned

4. ® suppressed
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Question Number : 87 Question Id : 59445943713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. There were hardly any vacant rooms in hotels that line the coast of Mexico's most famous resort, Acapulco.
Q. Just two days ago, the beaches were thronged with picnickers, sunbathers, surfers and holidaymakers.
R. However, the city had a most unwelcome intruder, a monster in the form of hurricane Pauline, the previous day.

Options :
1. ¥ PQR
2. % RQP
3. ¥ QPR
4. ¥ RPQ

Question Number : 87 Question Id : 59445943713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. There were hardly any vacant rooms in hotels that line the coast of Mexico's most famous resort, Acapulco.
Q. Just two days ago, the beaches were thronged with picnickers, sunbathers, surfers and holidaymakers.
R. However, the city had a most unwelcome intruder, a monster in the form of hurricane Pauline, the previous day.

Options :
1. ¥ PQR
2. % RQP
3. ¥ QPR
4. ® RPQ

Question Number : 88 Question Id : 59445943714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.
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1. We are living in an age in which technology has suddenly 'annihilated distance'.

P: Are we going to let this consciousness of our variety make us fear and hate each other?

Q: Physically we are now all neighbours, but psychologically we are still strangers to each other.

R: How are we going to react?

S: We have never been as conscious of our variety as we are now that we have come to such close quarters.
6. In that event, we should be dooming ourselves to wipe each other out.

Options :

1. ¥ PQSR
2. % PSQR
3. ¥ QSRP
4. ® RQSP

Question Number : 88 Question Id : 59445943714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. We are living in an age in which technology has suddenly 'annihilated distance'.

P: Are we going to let this consciousness of our variety make us fear and hate each other?

Q: Physically we are now all neighbours, but psychologically we are still strangers to each other.

R: How are we going to react?

S: We have never been as conscious of our variety as we are now that we have come to such close quarters.
6. In that event, we should be dooming ourselves to wipe each other out.

Options :

1. ¥ PQSR
2. % PSQR
3. ¥ QSRP
4. % RQSP

Question Number : 89 Question Id : 59445943715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.
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CONTAINMENT
Options :

1. % Perish

2. % Toil

3. % Confinement
4. % Despair

Question Number : 89 Question Id : 59445943715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

CONTAINMENT
Options :

1. ® Perish

2. ® Toil

3. ¥ Confinement
4. ® Despair

Question Number : 90 Question Id : 59445943716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

QUARREL
Options :

1. ¥ Brawl

2. % Tussle

3. ¥ Reconciliation
4. % Scuffle

Question Number : 90 Question Id : 59445943716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

QUARREL
Options :

1. ¥ Brawl

2. % Tussle

3. ¥ Reconciliation
4. ® Scuffle

Question Number : 91 Question Id : 59445943717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. #® Riceprocity

2. # Recipracitie

3. ¥ Reciprocity

4. ® Riceprocitie

Question Number : 91 Question Id : 59445943717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Riceprocity

2. ® Recipracitie

3. ¥ Reciprocity

4. ® Riceprocitie

Question Number : 92 Question Id : 59445943718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Parformence
2. ® Permissible
3. # Perseverance

4. % Personnel

Question Number : 92 Question Id : 59445943718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¢ Parformence

2. % Permissible

3. % Perseverance

4. ¥ Personnel

Question Number : 93 Question Id : 59445943719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Take it up a notch

Options :

1. #® To do something pointless

2. ¥ Apply more effort to achieve a goal
3. # To accidentally reveal a secret

4. ® This isn't over yet

Question Number : 93 Question Id : 59445943719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Take it up a notch

Options :

1. #® To do something pointless

2. % Apply more effort to achieve a goal
3. # To accidentally reveal a secret

4. ® This isn't over yet

Question Number : 94 Question Id : 59445943720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Not my cup of tea
Options :

1. # A refreshing drink
2. % A routine work

3. % Not what I like

4. % Not liked by me

Question Number : 94 Question Id : 59445943720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Not my cup of tea
Options :

1. # A refreshing drink
2. ® A routine work

3. ¥ Not what I like



Adda 2 "I 7 GGESL%'\ie Play

4. ® Not liked by me

Question Number : 95 Question Id : 59445943721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Primarily concerned with making money at the expense of ethics
Options :

1. ¥ Mercenary

2. % Altruist

3. # Philanthropist

4. % Angel

Question Number : 95 Question Id : 59445943721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Primarily concerned with making money at the expense of ethics

Options :

1. ¥ Mercenary

2. % Altruist

3. # Philanthropist

4. ® Angel

Sub-Section Number : 2
Sub-Section Id : 5944592022
Question Shuffling Allowed : Yes

Question Id : 59445943722 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the following passage and answer the questions below.
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On 29 March 1857, a young soldier, Mangal Pandey, was hanged to death for attacking his officers in Barrackpore. Some days later, some sepoys
of the regiment at Meerut refused to do the army drill using the new cartridges, which were suspected of being coated with the fat of cows and
pigs. Eighty-five sepoys were dismissed from service and sentenced to ten years in jail for disobeying their officers.

This happened on 9 May 1857. The response of the other Indian soldiers in Meerut was quite extraordinary. On 10 May, the soldiers marched to
the jail in Meerut and released the imprisoned sepoys. They attacked and killed British officers. They captured guns and ammunition and set fire
to the buildings and properties of the British and declared war on the firangis. The soldiers were determined to bring an end to their rule in the
country. But who would rule the land instead? The soldiers had an answer to this question — the Mughal emperor Bahadur Shah Zafar.

The sepoys of Meerut rode all night of 10 May to reach Delhi in the early hours next morning. As news of their arrival spread, the regiments
stationed in Delhi also rose up in rebellion. Again british officers were killed, arms and ammunition seized, buildings set on fire. Triumphant
soldiers gathered around the walls of the Red Fort where the Badshah lived, demanding to meet him. The emperor was not quite willing to
challenge the mighty British power but the soldiers persisted. They forced their way into the palace and proclaimed Bahadur Shah Zafar as their
leader.

The ageing emperor had to accept this demand. He wrote letters to all the chiefs and rulers of the country to come forward and organise a
confederacy of Indian states to fight the British. This single step taken by Bahadur Shah had great implications.

Sub questions

Question Number : 96 Question Id : 59445943723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why were eighty five sepoys dismissed from the service and sentenced to ten years jail?
Options :

1. # for stealing arms from the factory

2. ¥ for disobeying their officers

3. # for quarrelling with their fellow sepoys

4. % for supporting the rebellion

Question Number : 97 Question Id : 59445943724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indian soldiers marched to the jail and released imprisoned sepoys on —
Options :

1. % 29 march 1857
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2. % 8 May 1857
3. % 9 May 1857
4. ¥ 10 May 1857

Question Number : 98 Question Id : 59445943725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did some sepoys of the regiment at Meerut refuse to use the new cartridges?
Options :

1. ¥ because they were suspected of being coated with the fat of cows and pigs

2. # because they were treated harshly and unequally by the army officers at that time
3. # because they were weak enough to use that new type of cartridges

4. ® because they wanted equal opportunities as the British soldiers were given

Question Number : 99 Question Id : 59445943726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Triumphant”?
Options :

1. ® victorious

2. # conquering

3. #® successful

4. ¢ defeated

Question Number : 100 Question Id : 59445943727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. # Again British officers were killed, arms and ammunition seized, buildings set on fire.

2. # Indian soldiers forced their way into the palace and proclaimed Bahadur Shah Zafar as their leader.
3. % The British soldiers were determined to bring an end to their rule in the country.

4. ® As news of their arrival spread, the regiments stationed in Delhi also rose up in rebellion.
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Question Id : 59445943722 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the following passage and answer the questions below.

On 29 March 1857, a young soldier, Mangal Pandey, was hanged to death for attacking his officers in Barrackpore. Some days later, some sepoys
of the regiment at Meerut refused to do the army drill using the new cartridges, which were suspected of being coated with the fat of cows and
pigs. Eighty-five sepoys were dismissed from service and sentenced to ten years in jail for disobeying their officers.

This happened on 9 May 1857. The response of the other Indian soldiers in Meerut was quite extraordinary. On 10 May, the soldiers marched to
the jail in Meerut and released the imprisoned sepoys. They attacked and killed British officers. They captured guns and ammunition and set fire
to the buildings and properties of the British and declared war on the firangis. The soldiers were determined to bring an end to their rule in the
country. But who would rule the land instead? The soldiers had an answer to this question — the Mughal emperor Bahadur Shah Zafar.

The sepoys of Meerut rode all night of 10 May to reach Delhi in the early hours next morning. As news of their arrival spread, the regiments
stationed in Delhi also rose up in rebellion. Again british officers were killed, arms and ammunition seized, buildings set on fire. Triumphant
soldiers gathered around the walls of the Red Fort where the Badshah lived, demanding to meet him. The emperor was not quite willing to
challenge the mighty British power but the soldiers persisted. They forced their way into the palace and proclaimed Bahadur Shah Zafar as their
leader.

The ageing emperor had to accept this demand. He wrote letters to all the chiefs and rulers of the country to come forward and organise a
confederacy of Indian states to fight the British. This single step taken by Bahadur Shah had great implications.

Sub questions

Question Number : 96 Question Id : 59445943723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why were eighty five sepoys dismissed from the service and sentenced to ten years jail?
Options :

1. # for stealing arms from the factory

2. ¥ for disobeying their officers

3. # for quarrelling with their fellow sepoys

4. % for supporting the rebellion

Question Number : 97 Question Id : 59445943724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Indian soldiers marched to the jail and released imprisoned sepoys on —

Options :

1. ® 29 march 1857
2. % 8 May 1857

3. % 9 May 1857

4. ¥ 10 May 1857

Question Number : 98 Question Id : 59445943725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did some sepoys of the regiment at Meerut refuse to use the new cartridges?
Options :

1. ¥ because they were suspected of being coated with the fat of cows and pigs

2. # because they were treated harshly and unequally by the army officers at that time
3. # because they were weak enough to use that new type of cartridges

4. ® because they wanted equal opportunities as the British soldiers were given

Question Number : 99 Question Id : 59445943726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Triumphant’?
Options :

1. ® victorious

2. # conquering

3. #® successful

4. ¢ defeated

Question Number : 100 Question Id : 59445943727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is incorrect according to the given passage?



Addai247

Options :

1. # Again British officers were killed, arms and ammunition seized, buildings set on fire.
2. # Indian soldiers forced their way into the palace and proclaimed Bahadur Shah Zafar as their leader.
3. ¥ The British soldiers were determined to bring an end to their rule in the country.

4. % As news of their arrival spread, the regiments stationed in Delhi also rose up in rebellion.
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Question Number : 101 Question Id : 59445943728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Deficiency diseases occur in human body because of:

Options :

1. # Dehydration

2. ¥ absence of nutrients

3. # absence of physical activity

4. ® presence of disease germs

Question Number : 101 Question Id : 59445943728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BTSN AT IRR H §H & BRI AT 52
Options :

1. % Fieliau

2. ¢ UINS dcdl DI HH!

3. % QRIR® idfafe &1 3rvra

4. % Pl o Jurfa

Question Number : 102 Question Id : 59445943729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the reason behind the importance of Vitamin A?
Options :

1. ¢ prevents night blindness

2. % Prevents scurvy

3. % prevents anaemia

4. ® prevents constipation

Question Number : 102 Question Id : 59445943729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

frafafed § I S R {aeifiE A 3t gyl & exifdr g2
Options :

1. ¢ e 1 AbelT §

2. % WHdl B AB §

3. % T & Adbar g

4. % Hool ADdl §

Question Number : 103 Question Id : 59445943730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The underlying reason behind the low haemoglobin formation in the body is-
Options :

1. % scurvy

2. ¥ anemia

3. % goiter

4. % night blindness

Question Number : 103 Question Id : 59445943730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T HH SHNefe 9 & Ui Siafiied BRI -

Options :

1. % Whal

2.« g
3. % 99

4. % el

Question Number : 104 Question Id : 59445943731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which of the following could be the outcome of taking an excessive amount of carbohydrates?
Options :

1. ¥ Underweight

2. % Anemia

3. ¥ Obesity

4. ¥ Marasmus

Question Number : 104 Question Id : 59445943731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATYH A H HAGIRSC o+ &1 IR 5 T ¥ IH 1 51 Thell 62
Options :

1. % HH qo dTe 3c-HR

2. % Il

3. ¢ Hiel

4. % @I

Question Number : 105 Question Id : 59445943732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an example of a food that could prevent vitamin A deficiency in humans?
Options :

1. ¥ Spinach

2. % Lemon

3. #® Yeast

4. % Potato

Question Number : 105 Question Id : 59445943732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoRed & § D19 T TY HIoH &1 IaTeR01 & Sl A § fIeTftm A &1 &4 &1 Jd TohdT 82

Options :
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1. ¥ UIcddh

2. % g
3. % WHR

4. % 3T

Question Number : 106 Question Id : 59445943733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The in the presence of can produce Vitamin D.
Options :

1. ¥ Body, Sunlight

2. # Body, Vitamin A

3. ¥ Eyes, Sunlight

4. ¥ Nose, Vitamin A

Question Number : 106 Question Id : 59445943733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 Jurufa 4 fIeTfBM D &1 ITe TR THT 5|
Options :
1. ¥ 40, 'R
2. % faerfa A, IR
3. % YU, 3fid
4. % faeIft= A, 718

Question Number : 107 Question Id : 59445943734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a person wants to be healthy, he should have a diet rich in vitamin A.
Options :

1. ¥ Eyes
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2. % Nose
3. # Ears
4. % Head

Question Number : 107 Question Id : 59445943734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P AGI @R dedl g, I9 39 30 3MER H YRR AT H fe1fiq A a1 =gl
Options :

1. ¢ 3@

2. % qlh

3. % ®MH

4. % RR

Question Number : 108 Question Id : 59445943735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these must be taken to keep our gums and teeth healthy?
Options :

1. ¥ Calcium

2. % Tron

3. % Jodine

4. ® Zinc

Question Number : 108 Question Id : 59445943735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TG 3R Eidll ! W g & forg 399 J 1 o1 Anfew?
Options :

1. ¥ BfeRraH

2. # 3MRA
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3. % 3MAISH
4. % RN

Question Number : 109 Question Id : 59445943736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a content in Fortified salt?
1. Iron
2. Iodine

Options :

1. % Only I

2. % Only 2

3. % Both 1 and 2
4. ® Neither 1 nor 2

Question Number : 109 Question Id : 59445943736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # @ oH-91 BIidwEs TS & 99g Il 82
1. 3TARA
2. STSH

Options :

1. % $Had |

2. % PHad 2

3. ¢ 1 3R 2 gl
4. % A 1R 2

Question Number : 110 Question Id : 59445943737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a person is suffering from iodine deficiency, he/she must eat/drink -
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Options :

1. ¥ sea food

2. % root and tubers
3. # Dark Chocolate
4. % fibre rich food

Question Number : 110 Question Id : 59445943737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I PIs Afad AT & HH! 9 S 7, 1 3 @A g CIEISIBIE Y
Options :

1. ¢ & HIeH

2. % 98 AR Pe

3. % ST i

4. % TIeR gad YIS

Question Number : 111 Question Id : 59445943738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Presence of which of these elements is definitely required for the movement of muscles?
Options :

1. ® jodine

2. % jron

3. ¢ calcium

4. % Omega 3

Question Number : 111 Question Id : 59445943738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU & Gared & forw Afdd ©u T gt SufUfa &) srawaddr gidl 82

Options :
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1. % EeH
2. % M

3. ¢ Hferm
4. % 3T 3

Question Number : 112 Question Id : 59445943739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Vitamins are soluble in fat?
Options :

1. #® Vitamin A

2. % Vitamin B

3. # Vitamin D

4. % Vitamin A and Vitamin D

Question Number : 112 Question Id : 59445943739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 o o faerfiq oo d gaasia g2
Options :

1. % fqerfam A

2. % fqeTfi B

3. % fgerifid D

4. fqe1ft A SR fqerfi@ D

Question Number : 113 Question Id : 59445943740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an outer fibrous layer of the human-eye?
Options :

1. # Iris
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2. % Retina
3. ¥ Cornea
4. % Choroid

Question Number : 113 Question Id : 59445943740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafafad # 3 HH-a10 THa sife B a8 WeR R 372
Options :

1. % 319 &I gaah (3Meh)

2. % U Rfen

3. ¢ JAUCH (HIfa)

4. % JqdP (PRIZS)

Question Number : 114 Question Id : 59445943741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The one method which preserves the maximum nutrients, out of the four methods of cooking food with moist heat, is called
Options :

1. ¥ steaming

2. #® Cooking from woods

3. % stewing

4. ® pressure cooking

Question Number : 114 Question Id : 59445943741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TS, ST & HISH b b1 IR I & Q Uep A St 3if¥rerdq Tiyes dcdl b1 TRférd e g, Heddl 2|
Options :

1. ¥ HIY H YD

2. % ADISTl BT UG D GHI S
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3. % i} 39 H bl

4. % URR Pl

Question Number : 115 Question Id : 59445943742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can aptly describe stewing?
Options :

1. # cooking on a specific BTU

2. ¥ high temperature and little water

3. # Jlow temperature and little water

4. ® low temperature and lots of water

Question Number : 115 Question Id : 59445943742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fARfead & @ ©1F-91 TS (stewing) BT ST JUMH HR Febal 82
Options :

1. % U ARy sy U= @M1 a1

2. ¢ I ATUHM 3R UTST gt

3. % HH YA 3R AST U

4. % HH AIHE 3R Igd ART !

Question Number : 116 Question Id : 59445943743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following method is the way of cooking food by dry heat?
Options :

1. ¥ Baking

2. ® Roasting

3. ¥ Both baking and roasting
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4. ® Steaming

Question Number : 116 Question Id : 59445943743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied o 9 & 9 fafd 36 a @ HisH uem &t fafd g2
Options :

1. % Yol

2. % Y41

3. ¢ BT SR YA ST

4. % HIGH YD

Question Number : 117 Question Id : 59445943744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The method in which high frequency waves are passed through food from where heat is generated by rapid vibrations of water molecules is
called:

Options :

1. ¥ Microwave Cooking
2. % Baking

3. % Solar Cooking

4. ® Grilling

Question Number : 117 Question Id : 59445943744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fafty foraw =7 3mgfy ailt oY 4ot & Hreaw § Ui fobam ST @ wiet § urit & 31upaft & g sy J i S et 2, 98 P 8
Options :

1. ¥ HISchIdd UThiafe

2. % Yl

3. % GieR Urohfafy
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4. % YF

Question Number : 118 Question Id : 59445943745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following should not be done while boiling?

Options :

1. # Wash the food thoroughly before boiling

2. # First boil the water and then put the food

3. % The water should not cover the food completely, only one fourth water is to be poured always
4. % Boil food in a pan which has a well fitted lid

Question Number : 118 Question Id : 59445943745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & IaTdd 999 [aferiRad o T & 7] o1 dnfgy?

Options :

1. % Iga 9 g4 HIsg g o) 3rdt aRg § A1 R o Mgl

2. % U U &l IaT 3R bR I8 1w uetd Sre

3. ¢ O 9 T TRE T Ui Uerd &1 b1 gl aliey, §HRN dhad Udh AT Uil SIa
4. % YIS &I U U T H IHIT ORIHT gah 33! e 9 §c sidl 8l

Question Number : 119 Question Id : 59445943746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given options the Method of Food Enrichment is
1. Combination
2. Fermentation
3. Germination

Options :
1. # 1 and2 only
2. % 2and 3 only
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3. % 1 and 3 only
4.% 1,2and 3

Question Number : 119 Question Id : 59445943746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau v foweat # @ Jada ot fafd 3
1. Thsror
2. THR

3. 3P

Options :

1. % Had 1 3R 2
2. % Had 2 3R 3
3. % PHad | 3R 3
4.9 1,233

Question Number : 120 Question Id : 59445943747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The nutritive value and of food items is increased by Germination.
Options :

1. ¥ Digestibility

2. % Vitamin A

3. % Vitamin B

4. % Both vitamin A and vitamin B

Question Number : 120 Question Id : 59445943747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ipRuT § g yerdf & Gve g 3R EE| AR

Options :

1. ¢ ORI
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2. % faafia A
3. % fgerfia B
4. % f3eIftq A IR faer®q B gAY
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Question Number : 121 Question Id : 59445943748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Choose the characteristics of the non-perishable food items?

Options :

1. # Do not spoil at all

2. ¥ Take long time to spoil

3. % Takes shortest time to get spoiled

4. ® Can be saved only when stored in darkness

Question Number : 121 Question Id : 59445943748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T UGl ot [aRdrsft &1 a9+ <2
Options :

1. % WG 5 8Id ©

2. ¥ TRG gH | da1 IHI dd §

3. % WX g H qa9 S 9T A1 §

4. % 3R T W IM W S SR A GHhT §

Question Number : 122 Question Id : 59445943749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these are the methods of preserving food at home?

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Exposing food to low temperature

2. Exposing food to high temperature

3. By adding salt

4. By keeping food in water
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Question Number : 122 Question Id : 59445943749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR IR HIGH P WA B 1 570 9 DI A fafdr g2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. HISH &I HH dIHM H IGTRId HRAT

2. YIS &1 3 dTUHM H SalRId BT

3. THP STAHR @]

4. 9T YaTY &1 ofd | &G

Question Number : 123 Question Id : 59445943750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sources Natural Dyes are not obtained from?
Options :

1. #® Vegetables

2. % Animals

3. % Minerals

4. ¥ Chemicals

Question Number : 123 Question Id : 59445943750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mﬁﬁﬁ?ﬂﬁﬁﬁmm (natural dyes) T a1 8d 82
Options :

1. % gfesrai

2. % Uy

3. % @il
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4, ¢ JHIGT

Question Number : 124 Question Id : 59445943751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first drop of Polio Vaccine is given at an age of
Options :

1. % 10 weeks

2. ¥ 6 weeks

3. % 1 year

4. % 6 months

Question Number : 124 Question Id : 59445943751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIfer) &1 SlepT Ugalt IR 1 34 H fear Srar g
Options :

1. % 10 9dlg

2. ¥ 6 9l

3.% 194

4. % 6TGH

Question Number : 125 Question Id : 59445943752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following synthetic dyes has been banned being very harmful to human health?
Options :

1. # Direct

2. % Basic

3. % Acid

4. ¥ Azo
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Question Number : 125 Question Id : 59445943752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad o I fog 3 I (synthetic dyes)ﬁ%W%ﬁﬂW?ﬁW%ﬁﬁ%WmmW%?
Options :

1. % d: Iolh

2. ® MYRYJ Iolh

3. % 3AN ISTh

4. TSIl IS

Question Number : 126 Question Id : 59445943753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the Fabric is not properly rinsed, then it becomes
Options :

1. # Blue

2. ¥ Yellow

3. ® Bright

4. ® Grey

Question Number : 126 Question Id : 59445943753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe HUS o1 3% T g! 4T Sd1 3, A I8 CERSIGIR
Options :

1. ® e

2. ¢ Uiel

3. ® DGR

4. % YA
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Question Number : 127 Question Id : 59445943754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Soakage pits provide a hygienic method for the disposal of which of the following?
Options :

1. ® Garbage

2. ¥ waste water

3. ¥ human excreta

4. ® Biodegradable waste

Question Number : 127 Question Id : 59445943754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et fire PiafiRa & @ Regd Fioer % g o e Rl ver o 2
Options :

1. # HSTPIhC

2. ¥ UMY S

3. ® HMHEd HA

4. % SGHEHIT SUfRTY

Question Number : 128 Question Id : 59445943755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a consequence of putting more than one electrical appliance in one socket?
Options :

1. # It decreases the life of socket

2. % There will be less electricity in each one of them

3. # It entangles the wires

4. ¥ 1t creates the chance of accidental fires

Question Number : 128 Question Id : 59445943755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

fFrafafed & 9§ H-91 T Tide § Us I 31fie [9gga Iusm=0r T &1 uiomd 32
Options :

1. % gg Flove DI SY DI HH Bl o

2. % UAD | $H faeTell o1 yarg ghm

3. % g dRI & I 8

4. ¢ Tg DD 3N T BT Hihl T 8

Question Number : 129 Question Id : 59445943756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why cold water is applied to treat sprain?
Options :

1. # lower the body temperature

2. ¥ lessen pain and swelling

3. # to increase the blood flow in injured part

4. % to increase WBC count

Question Number : 129 Question Id : 59445943756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T 3T B THY, ST U1 | AT STl 82
Options :

1. % YRR BT AT0HH HH HI & [0l

2. ¥ GG 3R Yo HH HRA o forg

3. % ggd feR # Yad & Ud1e &I §¢H & A
4, % SN Bl dgM & fore

Question Number : 130 Question Id : 59445943757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which of the following are requirements for an Iron for pregnant woman?
Options :

1. ®¥ 10mg-40mg

2. ¥ 30mg-60mg

3. # 40mg-120mg

4. ® 60mg-200mg

Question Number : 130 Question Id : 59445943757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mfadht Afgen ¥ o smRA @t faset srazadsar g2
Options :

1. # 10mg-40mg

2. ¥ 30mg-60mg

3. # 40mg-120mg

4. ® 60mg-200mg

Question Number : 131 Question Id : 59445943758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Prevention of Food Adulteration Act passed?
Options :

1. ¥ 1954

2. %1956

3. % 1958

4. % 1960

Question Number : 131 Question Id : 59445943758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

are 3rutheur fRarur sifdfaaw fea oo uifed fasar mar ur

Options :
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1. ¥ 1954
2. % 1956
3. % 1958
4. % 1960

Question Number : 132 Question Id : 59445943759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the following options, choose the correct emulsifier used in mayonnaise.
Options :

1. # Myoglobin

2. # Cellulose

3. # Soya protein

4. ¥ Lecithin

Question Number : 132 Question Id : 59445943759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad fame O 9, Ay H Ugad 98] UIaRS g2
Options :

1. % TRIReifad

2. % AeqEst

3. % GRTUIEH

4.« AR

Question Number : 133 Question Id : 59445943760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The growing foetus is affected by which of the following factors-
1. Mother’s diet

2. Mother’s emotional state

3. Age of mother
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Options :

1. # 1 and 2 only
2. % 2 and 3 only
3. % 1 and 3 only
4.4 1,2 and 3

Question Number : 133 Question Id : 59445943760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G g1 YU PR 7 4 e o &y g 3-
1. HI T HGR

2. Tl P HTGTHD Rufd

3. HIAT &1 31y

Options :

1. % $Had 1 3R 2

2. % Had2 3R 3

3. % Had 1 3R 3

4.9 1,23R3

Question Number : 134 Question Id : 59445943761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The zygote attaches itself to the lining of which of the following?
Options :

1. # Vagina

2. ¥ Uterus

3. % Cervix

4. ® Rectum

Question Number : 134 Question Id : 59445943761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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g fRfead # ¥ feae! Ra ¥ IS war g2
Options :

1. % iy

2. ¢ TTHIRE

3. % Uidl

4. % AT

Question Number : 135 Question Id : 59445943762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dyes is not obtained from plants?
Options :

1. # Madder

2. % Indigo

3. # Henna

4. ¥ Vat

Question Number : 135 Question Id : 59445943762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol # 3 o 91 39 Uidl @ Ui el il 82
Options :

1. % HSTET

2. % Hid

3. % HEgdl

4.4 3T

Question Number : 136 Question Id : 59445943763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Children’s first temporary teeth starts getting replaced by permanent teeth at which of the following age?
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Options :

1. # 3 to 4 years
2. ¥ 6 to 8 years
3. % 9to 10 years
4. % 10 to 12 years

Question Number : 136 Question Id : 59445943763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed # § fra Su & =i & Ugd SR gidl &1 R gfdl & sea R gl Sl 82
Options :

1. % 3749

2. 69 8 T

3. % 9 10 9d

4. % 109 12910

Question Number : 137 Question Id : 59445943764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If'Y is seven months old, which of the following incisors must have erupted in her mouth?
Options :

1. ¢ Central

2. % Lateral

3. # First molars

4. ® pre molar

Question Number : 137 Question Id : 59445943764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Yy 1d AgH &1 5, dl 39 G & Fafafad § § &H I Had Bel g

Options :
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1. ¢ HEg

2. % Tref

3. % JAUIdH (TSI aIg)
4. % 3UTGUD (W HITR)

Question Number : 138 Question Id : 59445943765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the quantity or quality of food items are altered by adding or removing something in it, the process is called
Options :

1. ¥ Adulteration

2. ® Advertisement

3. % Standardized marks

4. ® operation

Question Number : 138 Question Id : 59445943765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Wrer uerf Y U a1 U § $© SSdR I1 gl dad fodl ST 8, d ufshar &l Hel S g
Options :

1. ¢ fidrge
2. % fagmoA
3. % DB b
4. % 3fRIH

Question Number : 139 Question Id : 59445943766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an inhibitor found in pulse?
Options :

1. ¢ Trypsin
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2. ® Pepsin
3. # Biotin
4. % Avadin

Question Number : 139 Question Id : 59445943766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ¥ SH-91 a1 § G1T S aTalT S{aRIe® g2
Options :

1. ¢ et

2. % OfRH

3. % g

4. % 3IgH

Question Number : 140 Question Id : 59445943767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a Tie and Dye Technique?
Options :

1. ¥ Marbling

2. % Binding

3. ¥ Batik

4. ® Knotting

Question Number : 140 Question Id : 59445943767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed & § S 999 (@15 3R ST8) db-1d 81 82
Options :

1. % T ST (HTET)

2. % AT (SIEFE)
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3. ¢ dlfich
4. % T[S AT (A1)
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Question Number : 141 Question Id : 59445943768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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National Literacy Mission is targeting which of the following age group?
Options :

1. #® Below 15 years
2. % 35-44 years
3. ¥ 15-35 years
4. ® 15-65 years

Question Number : 141 Question Id : 59445943768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It wreRar B fafafed § 9 e arg o ot afdd s @8
Options :

1. % 159 Y HH

2. % 35.44 91

3. % 15-3591d

4. ® 15-65 1A

Question Number : 142 Question Id : 59445943769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following nutrients are responsible for green ring formation in boiled egg?
L. Iron

II. Protein

1. Hydrogen

IV. Sulphur

V. Copper

Options :

1. % Il and I

2. % IMland V

3. [ Il and IV
4. % [Tand V
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Question Number : 142 Question Id : 59445943769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3I9d 31 H gY 9 & A0 & oI o9 A Uiy dd foieRr 82
1. 3R
I Ui

III. €|3§;|\_T|'_'|

IV. HehX
V. hIUR

Options :

1. % 13RI
2. % IRV

3.9 13RIV

4. % 3RV

Question Number : 143 Question Id : 59445943770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Put the following foods in increasing order according to their sodium content per 100 g
I. Banana

II. Egg

III. Tomato

I'V. Spinach

V. Musk Melon

VI. Meat

Options :

1. % 1V, V,IIL I, VLI, II

2. % LILIV,V, VL II

3.9 1V, 1L, V, VL, 11

4. ® 1IL 1V, V, 1, 11, VI

Question Number : 143 Question Id : 59445943770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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ﬁaﬁfr@ﬁm T gerdf &1 Ufd 100 I STH Tl & SR d6d HH J 79
I.

11. 3T

111, THTCR

IV. Uld&h

V. PER RS

V1. 7Y

Options :

1. % IV, V,1IL, I, VL, II
2. % LILIV,V, VL II
3.1V, LIIL V, VL 11
4. % 1IL, 1V, V, 1, 11, VI

Question Number : 144 Question Id : 59445943771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sources can be known as family income?
1. Interest received from banks

2. Rent

3. Salary of family members

Options :

1. % 1 and2 only
2. % 3 only

3. % 1 and 3 only
4.%1,2and3

Question Number : 144 Question Id : 59445943771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 3 g W@ia & uikaiRe 3 aid o 82
1. S T U B 9Tl ST

2. T

3. ORAR & | &l daH
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Options :

1. % Hhad 1 3R 2
2. % Had 3

3. % $Had 1 3R 3
4.9 1,23R3

Question Number : 145 Question Id : 59445943772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following information have to be engraved or printed on the label of a product?
1. Name of the product

2. Guarantee period

3. Product Price

4. Directions to use the product

5. Warnings and precautions to be kept in mind while using the product

Choose the correct code-

Options :

1. % Only 1,2,3
2. % Only 1,2,3,4
3.91,2,3,4,5

4. % Only 1,2,3,5

Question Number : 145 Question Id : 59445943772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiied & 9 &1 T STHHR! B IdE & dad IR 363 a1 Jfad g1 angy?
1. IS DT A1

2. TR 3@y

3. 3d1G Pl P

4. TG & YA & fore fAdwr

5. 3T & YN & THY W S gTelt Adraf-ar g graenf-at

e DI I

Options :
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1. % ®Had 1,2, 3
2. % HAd 1,2,3,4
3.¢1,2,3,4,5
4. % $Had 1,2,3,5

Question Number : 146 Question Id : 59445943773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A child exhibits a behaviour of destroying things he gets in hand. Which of the following can be a meaning of this behaviour?
1. The child is feeling helpless

2. The child is seeking attention

3. The child is feeling tired

Options :

1. # Only 1 and 3
2. % Only 2 and 3
3.4 Only 1 and 2
4. % 1,2 and3

Question Number : 146 Question Id : 59445943773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 931 81U H fHre arefl Tisil &l Y B BT AdeR UeiRid Bdl g | Fafafad # ¥ 39 agR &1 31 o1 81 Ihdi 82
. ST 3R Heqy HR Y81 §

2. ST ST HATXET 8

3. ST YT G HEqY IR I8 §

Options :

1. % Had 1 3R 3
2. % Had 2 3R 3
3. PHad 1 3R 2
4. % 1,23R3

Question Number : 147 Question Id : 59445943774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following standardization mark is used for gold jewellery?

Options :

1. ¥ Hall mark
2. % FPO

3. % Agmark
4. ® BEcomark

Question Number : 147 Question Id : 59445943774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiyd o @ &9 91 AHe 60l g M & 3TN 3 fore T foar Sirar g2
Options :

1. ¢ Bid A1

2. % THUS

3. % WHD

4. % IDIHD

Question Number : 148 Question Id : 59445943775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are the smallest of all fibers.

Options :

1. # Acrylic

2. % Rayon

3. ¥ Cotton

4. % Wool

Question Number : 148 Question Id : 59445943775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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 gitdgei i ged Bl g gl
Options :

1. % Qichfcrep

2. % M

3. ¥ HUN

4. % HA

Question Number : 149 Question Id : 59445943776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is not true?
Options :

1. # Rayon fibers are thermoplastic in nature
2. % Synthetic fibers catch fire easily

3. ¥ Silk is weaker than wool

4. % Wool is a weak fiber

Question Number : 149 Question Id : 59445943776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed Syl & § S F91 9d T8 82

Options :

1. % gE dq Upia H qrogecd §

2. % HHY dq (RAfee WIZeR) MM Y 3T U s ad o
3. ¢ 39 (Rich), ST FAR §

4. % 3 U HHIR dg (M) §

Question Number : 150 Question Id : 59445943777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is known as the ‘Queen of fibers’
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Options :
1. # Nylon
2. ¥ Silk
3. % Cotton
4. % Wool

Question Number : 150 Question Id : 59445943777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& AT B I B TG H ST oIl §
Options :
1. % e
2. ¥ I
3. % dUN
4. % HA

Question Number : 151 Question Id : 59445943778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Faffed HU=i 8 3 & 91 9 751 82
Options :

1. % HUNY TP 81 (gUN odl &

2. % 9 A Rrdac ST & T8 usd o
3. ¢ o 3 Ryerad e @ e et €
4. % W ¥ Ryeac S 4 US ST 3

Question Number : 151 Question Id : 59445943778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is not true?
Options :
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1. # Cotton gives a cool feeling

2. # Wool does not wrinkle easily
3. % Linen does not wrinkle easily

4. ® Rayon wrinkles easily

Question Number : 152 Question Id : 59445943779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fibers can be identified by using Burning Test. Which of the following fibers shrink on approaching flame?
Options :

1. ¥ Nylon

2. % Cotton

3. ¥ Rayon

4. #% Linen

Question Number : 152 Question Id : 59445943779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 2 (Burning Test) BT ITANT HRb BIIER HI UgdM &1 ol Yaval! ¢ | FEfeiRad & § &9 1 dg A & Fdve M R Rigs Srar g2
Options :

1. ¢ e

2. & OUN

3. % WM

4. % fo

Question Number : 153 Question Id : 59445943780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is not true for Khadi?
Options :

1. ® Khadi is a fabric made from hand spun yarn
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2. % Khadi is a fabric that is woven on handloom

3. ¥ Khadi has a smooth texture and smooth feel

4. ® Khadi movement was started by Gandhiji

Question Number : 153 Question Id : 59445943780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ oF o1 sy @rd) & fow g8t 78t 82
Options :

1. % 4l 1Y HTal gd I §1 Uh HUSl §

2. % T TH T HUST € oI §YHRET R 1 91l §

3. ¢ Wi H U fodst s-1ae 3R ford-To 78y gial §
4. % @Idl fiqia Tidtsl gRT Y= fovam rar ot

Question Number : 154 Question Id : 59445943781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true for Development of child?

Options :

1. #® Developments of all human beings follow a similar pattern.

2. % Development proceeds from central part of the body towards peripheries

3. # All types of developments, e.g, physical, mental, social and emotional are related to each other.
4. ¥ Development occurs at the same rates for the different parts of the body.

Question Number : 154 Question Id : 59445943781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed ¥ @ H1F 91 by 5= & [ & o 981 T8l 22
Options :

1. % it 77 & [9T U I/ Ufaed &1 UTaH &Rd §
2. % 3BT IRR & 7 U F uRfY ot SR 9gar
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3. % Ot UBR & fadm, S, IR, AFRI®, JHTSIH 3R UGS Th gER 4 e fdd §
4. ¢ IR & faftr fewal & fore o Tam I R glar @

Question Number : 155 Question Id : 59445943782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of child development, proximodistal sequence means

Options :

1. # Each child may have a different rate of development

2. # Development spreads over from head to foot

3. ¥ Development proceeds from central part of the body towards peripheries
4. ® Development is predictable

Question Number : 155 Question Id : 59445943782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9191 fdeeTd & Ty & mifeaAifeea oy &1 ordf gl
Options :

1. % YA 9 & [9BTT B T 31T <= 81 Iball &

2. % faHr RR Y R a& Hardl &

3. ¢ foET TRR & A&y AT I uRfY o iR SeaT 8

4. % {919 AT §

Question Number : 156 Question Id : 59445943783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true in respect of maturation and learning?
Options :

1. #® Development is the product of maturation and learning

2. ¥ Learning comes from individual’s genetic inheritance

3. # Learning is the development that comes from efforts and practice
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4. ® Maturation cannot go beyond a certain point

Question Number : 156 Question Id : 59445943783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & 9 Y= uRusar iR drad & Tey 9 T8 82
Options :

1. % 3Ty uRuehdr 3R Te- &1 341G §

2. ¢ TRe, Afad BT STIARIG faRId I omar g

3. % TRE, 98 fasr § S varl SfiR enary ¥ Sfrdl §

4. % GRUSd T i g I 3 =gl o el

Question Number : 157 Question Id : 59445943784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true about Cognitive Development?
Options :

1. ¥ It is how children learn and process information

2. % It includes gross motor skill and fine motor skills

3. # It focuses on how emotions are developed

4. % Tt develops social skills

Question Number : 157 Question Id : 59445943784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS [ & IR J Fgfifed &  &F W &3\ I3 82

Options :

1. ¥ 9 {59 TR Rad § SR Y1 &1 ST %d &, I8 S99 TiId §
2. % YW YHd HIex DI 3R 3l HIex HINA IMA §

3. % U8 3 91d W dbfad g o Ha1sfi &l o fas g fovar Srar g

4. % g GTAINIS HINS [AHRIT T 8
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Question Number : 158 Question Id : 59445943785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the major values classified by Parker?
Options :

1. # Health

2. % Ambition

3. # Knowledge and wisdom

4. ¥ Wealth

Question Number : 158 Question Id : 59445943785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad & § ®1F-91 U gRT aiferd T Hod! § 9 T el 82
Options :

1. # WY

2. % HgcdThial

3. % JH AR s

4. v Yq

Question Number : 159 Question Id : 59445943786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a filling stitch?
1. Stem Stitch

2. Satin Stitch

3. Darning Stitch

Options :

1. ¥ Only 1

2. % Only2and 3
3. % Only 2
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4. % Only 3

Question Number : 159 Question Id : 59445943786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed # 9 o A wRE-Riers (e Rewr) 781 2
1. %H Ryelrs

2. qife Ryarg

3. SIfT Ryerrs

Options :

1. ¥ &ad |

2. % Had2 3R 3

3. % had 2

4. % Had 3

Question Number : 160 Question Id : 59445943787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many types of blood-groups are known in humans?
Options :

1.4

2. %5

3. % 6

4. % 7

Question Number : 160 Question Id : 59445943787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A9 ¥ fha UHR & Iad Tg 14 82
Options :

1.¥4

2. %5
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Question Number : 161 Question Id : 59445943788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Who defines children with behavioural disorders as “those who chronically and markedly respond to their environment in socially
unacceptable/personally unsatisfied ways but who can be taught more socially acceptable and personally gratifying behaviour”?

Options :

1. ¢ Kauffa
2. % Baker
3. ¥ Brown
4. ® Brandt

Question Number : 161 Question Id : 59445943788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem SgagR dadt fawRI aral a=t &1 uRyTid forar 8 &1 ag d § ol I U § SRalepi/AfGTd ©U I SRy did! 9 30
TafeRUl & U SedbIfered iR WY U § Ufdfohdr #Xd g, Tfde forg 31feid JHToId 0 § WIbH 3R Al © 0 4 AgPardsd
IER RIam S Favdl g2

Options :

1. ¢ BB

2. % dPR

3. % S

4. % §ic

Question Number : 162 Question Id : 59445943789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the largest gland in the human-body?
Options :

1. ¥ Heart

2. # Kidney

3. % Lung

4. ¥ Liver

Question Number : 162 Question Id : 59445943789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 @ wH-a1d A9a IRR &1 9ad Tt U 32
Options :

1. # gad

2. % g

3. % Bthg

4. % TPd

Question Number : 163 Question Id : 59445943790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What percentage of the human blood is proteins?
Options :

1. % 90-92 percent

2. ¥ 6-8 percent

3. % 1-2 percent

4. % 10-12 percent

Question Number : 163 Question Id : 59445943790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qTd Iad BT foaT ufaerd Ui giar 82
Options :

1. % 90-92 Ufc=Td

2. ¢ 6-8 Ufa=Id

3. % 12 gfa=rd

4. % 10-12 Ufc=rd

Question Number : 164 Question Id : 59445943791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which of the following is not a form of PEM (Protein Energy Malnutrition)?
Options :
1. # Kwashiorkor

2. ¥ Marasmus

3. # Nutritional Dwarfing or Stunting
4. ¥ Osteoporosis

Question Number : 164 Question Id : 59445943791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 oH G (WIEH ol UV &1 TS U 51 67
Options :

1. ¥ BIRHRGR

2. % TRISY (@13

3. % TINER S0 a1 €T

4.« ARCATURIRGY (SRRUYGRRA)

Question Number : 165 Question Id : 59445943792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Adult rickets is caused due to deficiency of-
Options :

1. ¥ 7 - dehydrocholestrol

2. % Tocopherol

3. % Ascorbic Acid

4. # Pantothenic Acid

Question Number : 165 Question Id : 59445943792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R (0% Rbey a1 TSee Rbey) fhae! Hit & HRUT 1A |2
Options :
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A D A\

1. ¥ 7-SRRSIPlaed
2. % TDHIURIA

3. % TIpliad YIS

4. % UoUfe TS

Question Number : 166 Question Id : 59445943793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A colour combination of Yellow, Yellow Green, Violet and Red Violet, is an example of-
Options :

1. # Complementary Colour Scheme

2. ¥ Double complementary colour harmony

3. # Split complementary colour harmony

4. ¥ Tetrad

Question Number : 166 Question Id : 59445943793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui, dielt 87, ST 3R AT ST 3T BT T fhaehT U IT8Rul 82
Options :

1. 8 RD RURIS Il (Complementary Colour Scheme)

2. ¢ 8dd RP [ Ag1d (Double complementary colour harmony)

3. % %‘l-ll\ﬂ'-l-l;l@w T Ya&Id (Split complementary colour harmony)

4. ® é?:l@'; (Tetrad)

Question Number : 167 Question Id : 59445943794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following has given nine degrees of value scales ranging from white to black?
Options :

1. ¢ Dr. Denman W. Ross
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2. % Louis Valtat
3. # Carlos Luis de Ribera
4. % Eduardo Rosales

Question Number : 167 Question Id : 59445943794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed # @ f5am Tt 3 ST 31 & A feoht aues wha fau 89
Options :

1. ¢ S ST S=g

2. % g dleeic

3. % DA qed of R

4. ® UG3MTS! AT

Question Number : 168 Question Id : 59445943795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To ensure roominess the length of the room should not exceed the width of the room by-
Options :

1. % 11/2 times

2. % 5/4 times

3. % 7/3 times

4. % 27/4 times

Question Number : 168 Question Id : 59445943795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HHR DI TIeTd &1 YA A & e, IR &1 TEmE I9H! drels 4 el 81 g1 AT ul

Options :
1.9 11270
2. % 5470
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3. % 737
4. % 27/4TA

Question Number : 169 Question Id : 59445943796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the best type kitchen, since it has optimum work triangle?
Options :

1. # One-wall kitchen

2. ® U shaped kitchen

3. ¥ L shaped kitchen

4. ® Separate unit kitchen

Question Number : 169 Question Id : 59445943796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3FAdH B Y 81 W, Fafifed & 9 S I9E Ty 3T 82
Options :

1. % U®H GlaR X918

2. % g BRI

3. ¥ Td 3R 415

4. % IS B 3T 3BTy

Question Number : 170 Question Id : 59445943797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the option which is matched incorrectly-
Options :

1. ® Vitamin B¢ - Pyridoxine

2. #® Vitamin B, - Riboflavin

3. # Vitamin B - Thiamine
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4. % Vitamin C - Niacin

Question Number : 170 Question Id : 59445943797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% faeey gL o Tad gafed 8-
Options :

1. % faerftq B - ureRSiiRT

2. % f3eIftA B, - gETRAfAA

3. % fqer®A B, - yrafeA

4. ¢ faerfed ¢ - Faie

Question Number : 171 Question Id : 59445943798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the process of stiffening materials to yarns or fabrics?
Options :

1. # Calendering

2. # Tentering

3. ¥ Sizing

4. ¥ Mercerization

Question Number : 171 Question Id : 59445943798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeiRad 7 9 oH-t Il um a1 HUS| B TRed B B Uk 82
Options :

1. % Has

2. % Tfa

3. ¥ ISR

4. % THAB
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Question Number : 172 Question Id : 59445943799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. # Cold water or salt or borax solution can be used to wash off blood-stains on linen
2. # Warm water or hydrogen peroxide can be used to wash off coffee-stains on linen
3. % Glycerin or benzene can be used to wash off ink-stains on linen

4. % Kerosene or turpentine can be used to wash off paint-stains on linen

Question Number : 172 Question Id : 59445943799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed & I &I 1 S Tad g2

Options :

1. % AT NG & ysd O & 1T &8 Ut a1 9 a1 IRe JHIUT &1 SUANT o1 off TahdT §
2. % 9 R BB & & fore 7 urt a1 TS IeH RIS S H1 SUTNT [hdT off Tdhdl &

3. ¢ fo9 R wrgl-anT 9 & o o= a1 SSi= &1 o fohan S Tehdl 8

4. % T IR Ue-anT 9 & fore gt o o a1 aRUA &1 SUaNT faa o 9ehdi 8

Question Number : 173 Question Id : 59445943800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What need not be kept in mind while making spending plan?

Options :

1. ® Keep in mind all the income and facilities available to you for the period for which you are making the spending plan.
2. % List all the requirements (commodities and services) needed by the family members for that period.

3. ¥ Do not prioritize your needs as it will disturb the spending.

4. ® Allocate funds keeping in mind the total income. This will help in effective utilization of money and other resources.
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Question Number : 173 Question Id : 59445943800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Google Play

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T <1l &) g A1 §91d 99d &9 | g1 &1 A1 y?

Options :

1. % I 3fafd & Ty S+ U SUTT 31T TUT YraTafl &1 e H 39, 5 3rafd & e o aeH1 a9 5|
2. % IY 3aft o fofe aRaR & el o1 Gt I an (axq¢ d 9ard) & g 91 |

3. ¢ 3O SRl Y UTdfiesdr 7 € ife g8 T | §14T STa|

4. % P 3 B! & T TG §U R el B | STH U7 TUT 3= FA1E1 ob PRI T § Ggraar Heft|

Question Number : 174 Question Id : 59445943801 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following waste products —

1. Human waste

2. Plastics

3. Food-waste

Which of the above given waste-materials are biodegradable?

Options :

1. % Only 1 and 2
2. % Only 2 and 3
3.4 Only 1 and 3
4. % 1,2 and3

Question Number : 174 Question Id : 59445943801 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad safy gerf iR faam &% -

1. /g Uy

2. |WIReH

3. WIY-3{UfRry

SWIad # T ST SuRy-uery Sa@sa-iy g2

Options :

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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1. % %ad | 3R 2
2. % Had 2 3R 3
3. Had | 3R 3
4. % 1,233

Question Number : 175 Question Id : 59445943802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following diseases—

1. Cholera

2. Jaundice

3. Typhoid

Which of the above diseases can be prevented by adopting hygienic practices?

Options :

1. # Only 1 and 2
2. % Only 2 and 3
3. % Only 1 and 3
4.%1,2and 3

Question Number : 175 Question Id : 59445943802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad A | faar &3

1. goT

2. Uifera

3. CIkWIgS

DAl & AP B HUATHR IURIG | U o IFT B e off Fehell 82

Options :

1. % Had 1 3R 2
2. % HaA2 3R 3
3. % PHad | 3R 3
4.4 1,233
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Question Number : 176 Question Id : 59445943803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the ‘airing” of fabrics help in?
Options :

1. # Removing stain from the fabric

2. # Removing loose dirt from fabrics

3. % Removing bad odours from fabric

4. % Removing colours of the fabric

Question Number : 176 Question Id : 59445943803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

«ga1 AT (Airing)” BT YO HUS! | fhd TR Q HTH H 31T 82
Options :

1. ® HUS Y M geH & forg

2. % HUS R A HURT ¢l DI FepTerq & forg

3. ¢ HUSI Y 3 dTcll T BT g B o forg

4. % HUSI YW g™ & folg

Question Number : 177 Question Id : 59445943804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following colours -

1. Yellow

2. Purple

3. Orange

Which of the above are secondary-colours?

Options :
1. # Only 1 and 2
2. % Only 2 and 3
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3. % Only 1 and 3
4. % 1,2and3

Question Number : 177 Question Id : 59445943804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad M R faar o3-

1. dter

2. ST

3. AR

SWRIGd & § ®F-91 fgcdias W12
Options :

1. % Had 1 3R 2
2.« Had 2 3R 3
3. % $Had 1 3R 3
4. % 1,233

Question Number : 178 Question Id : 59445943805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following vaccines needs to be given to the baby at birth?
Options :

1. % TT

2. ¥ MMR

3. % DT

4. ¥ BCG

Question Number : 178 Question Id : 59445943805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead & 9 o 1 o1 9= &1 9 & 98y fear S 9nfgw?

Options :
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1. % I (TT)

2. % THTHSR (MMR)
3. % I (DT)

4. ¢ dI9IST (BCG)

Question Number : 179 Question Id : 59445943806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An adolescent trying to prove to their friends that he is too ‘macho’ and even resorting to indulge in alcoholism, smoking and may even taking
drugs is an example of

Options :

1. #® Social problems
2. % Personal problems
3. ¥ Peer pressure

4. ® Eating disorders

Question Number : 179 Question Id : 59445943806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS fHRIR 30 SR B! T§ WIfad B B HIRIRT B Y81 § [ 98 9gd HaMI & 3R T8 d o IRTE, YHIH 3R 79 t AT &, T8

CARCARTARRLU ]
Options :

1. % gHTSS THmg
2. % HfgdiTd gHAY
3. ¥ YgHHI <aId
4. % @A P [AHR

Question Number : 180 Question Id : 59445943807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is incorrect?
Options :
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1. # Fermentation takes place in anaerobic conditions

2. # Fermentation is carried out by microorganisms
3. ¥ High energy is released during anaerobic respiration
4. ® The ATP is known as the energy currency of the cell

Question Number : 180 Question Id : 59445943807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied o 9§ & 91 7Tad 82

Options :

1. % fpuae srargdiy G & glar @

2. % forUa gervial gRT faa oiTdl §

3. ¢ (AT 499 & SR I Sl (T gl 8

4. % T DI DIABT Bt SHoll T & U H o1 o1l §

Discipline5

Group Number : 10

Group Id : 5944591016

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline$

Section Id : 5944591741

Section Number : 1



Adda 2 "I 7 GGESL%'\ie Play

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592027
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 59445943808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has an open circulatory system?
Options :

1. ¥ Cockroaches

2. % Humans

3. #® Earthworms

4. ® Squids

Question Number : 181 Question Id : 59445943808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafead @ 9 forad ue Jar aRE=Ro o3 82
Options :

1. ¢ faeg

Question Number : 182 Question Id : 59445943809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Protein metabolism doesn’t result in

Options :

1. ¥ Ammonia
2. % Urea

3. # Uric acid
4. ¥ Acetic acid

Question Number : 182 Question Id : 59445943809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T T IOy HTgi g gl
Options :

1. % I

2. % R

3. % gRe TRYS

4. ¢ TRfee Thirs

Question Number : 183 Question Id : 59445943810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following human body-parts is the Bowman’s capsule related to?
Options :

1. #® Heart

2. % Brain

3. ¥ Kidney

4. ® Liver

Question Number : 183 Question Id : 59445943810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad o ¥ e TRR & 59 3 3 S S e 22
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Options :

1. % geg

2. % ORaSh

3. g5 (fs
4. % dIdR @PHa)

Question Number : 184 Question Id : 59445943811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cooking-methods uses fat as a medium of cooking?
Options :

1. #® Grilling

2. % Steaming

3. ¥ Sauteing

4. ® Baking

Question Number : 184 Question Id : 59445943811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafEd & O S I @M1 U B 3R a8 B W UbH $ A1 & TU § IUENT BRal 82
Options :

1. % el

2. % AT

3. ¢ WA

4. % ST

Question Number : 185 Question Id : 59445943812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fish liver oil is an excellent source of
Options :
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1. # Vitamin A only

2. ¥ Vitamins A and D

3. # Vitamin C only

4. ® Vitamins B and C only

Question Number : 185 Question Id : 59445943812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSat & SR &1 dd B TP IPT A G|
Options :

1. % Dhad fderfiT A

2. ¢ fqaff A 3R D

3. % Bhad faerfi ¢

4. % $Haq [qefA B 3R C

Question Number : 186 Question Id : 59445943813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Everyone has limited resources to achieve the goals. Which of the following is not a way to use resources efficiently?
Options :

1. #® Find alternative ways of using resources

2. # Find ways to make resources last longer

3. ¥ Conserve resources even by depriving others

4. ¥ Make sure not to waste resource

Question Number : 186 Question Id : 59445943813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I P U 3 P fore Tt & Ty i Tmed g | FEfeied § 9 & -9 Su1e! &1 $Raargdd SURT B &I deidl Ta! 82
Options :

1. % T BT STANT B & ddbicdd axids Wrol




Adda 2 l'l 7 %‘Eggaie Play

2. % YA Bl dd Y Tb o4 b aRids Qiol
3. ¢ GQIRI DI dfd Hh Ut TA1EH] T TREUT DY
4. % g f e safe T8

Question Number : 187 Question Id : 59445943814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are Four steps in a management process. Which of the following options is in proper order?
Options :

1. # Organizing, Planning, Evaluating, Implementing

2. % Organizing, Planning, Implementing, Evaluating

3. ¥ Planning, Organizing, Implementing, Evaluating

4. ® Planning, Organizing, Evaluating, Implementing

Question Number : 187 Question Id : 59445943814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yaeH ufosar § TR TR gld 8| Fufiea § Q@ o wfosau Skawa d g2
Options :

1. % 3{TIroH, aioHT, HedidhH, Ha-ad

2. % 3TIISH, AISHT, HAGI, HedihH

3. ¢ TSI, TS, HIA-aa-, Hedid-

4. % IS, A, Helich, BRI

Question Number : 188 Question Id : 59445943815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true?

Options :

1. ¥ Human resources are those resources which belong to the person and cannot be taken away by others

2. % Human resources are those resources which belong to the person and can be taken away by others
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3. # Non-human resources can belong to the person or the community.

4. ® Non-Human resources can be taken over or shared by others

Question Number : 188 Question Id : 59445943815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EREREIER NSRS

Options :

1. % AT GH1YH d G § Sl Al & § 3R GHRI GRT Ta] B off §hd o
2. ¢ HFd GA1YF d T ¢ ol Ao & & 3R GIRI gRT B Sff Tebdl §

3. % TR-AMG AT fad a1 THEE ¥ H&fid gl 9hd §

4. % IR-AMT GETEHT DT GERI GRT fora a1 wren a1 o1 davdl &

Question Number : 189 Question Id : 59445943816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a step in Time planning?

Options :

1. #® Listing all the activities to be performed on a day and grouping them in to flexible and non-flexible.
2. # Estimating time required for each activity

3. # Balancing the activities to be performed within a given time

4. ¥ Not assigning any particular timing to each and every activity.

Question Number : 189 Question Id : 59445943816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ o 9w FEsH &1 R0 81 82

Options :

1. % U e O o1 o arett 9t Tiafafer & Jeias HR1 3R S aeid iR TR-adid SR § 9afgd w1
2. % U Al & fOIU sraae 90 &1 UM Ml

3. % U (A 99g & iR ot ST areft nfafafeat & dgferd s
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4. ¢ YA Tafafy o fore oIS fay gog Py 78 e

Question Number : 190 Question Id : 59445943817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Different types of activities require different amount of energies. Which of the following activities come under the category of Heavy Activity?
Options :

1. # Reading

2. # Watching TV

3. # Cooking

4. ¥ Mopping

Question Number : 190 Question Id : 59445943817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafta geR &t TTfafafrl o g Srer-SierT U § ol &l sawadhdl gidl ¢ | Fufafad & 3 o It nfafaftrr wt nfafafy o goft &
3 82

Options :

1. % gl

2. % 2Hdl g

3. ® Q[ bl

4. ¢ U318

Sub-Section Number : 2

Sub-Section Id : 5944592028
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 59445943818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a way to save energy?
Options :

1. ¥ Chatting with friends while working to reduce stress
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2. # Cutting extra movements and combining activities

3. ® Developing skill to perform any activity

4. ® Using labour-saving devices

Question Number : 191 Question Id : 59445943818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRad & I DI ol a9 HI AR ol 8?2

Options :

1. ¢ T1d HH B P T HTH Hd I ST & 1Y < HIAT
2. % Sffafved nfafafaral & werdt sk nfafafial &1 Taem

3. # fodt ot mfafafyr & B & o e fawsfyd ween

4. % YO-gId IUBRUN BT TN Bl

Question Number : 192 Question Id : 59445943819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cannot be treated as a characteristic of a good budget?
Options :

1. #® Accurate estimate of Income

2. % Accurate estimate of expenditure

3. ¥ Preparing a fixed budget to stick to the plan

4. ® Reasonably accurate allocation of money

Question Number : 192 Question Id : 59445943819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed & 3 fhd U o/ Toic &) fa=ivdT & U H 78] A1 S Il 62
Options :

1. % 31 BT I SHM DAl

2. % Y DT Yl UM DAl
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3. ¢ YoM IR 94 384 P ol Tep AT Soie duR B3

4. % UQ &1 3T ISP 3HTded HAT

Question Number : 193 Question Id : 59445943820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a common physical change among boys and girls during adolescence?
Options :

1. ® Broadening of shoulders

2. # Broadening of hips

3. ¥ Pimples

4. ® Desire to eat junk food

Question Number : 193 Question Id : 59445943820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & @ o 91 uRad- [P URTT H de®! 9 dsfhal § IAH ¥U 3 gidl 82
Options :

1. % G BT AST BT

2. % Al HTEST AT

3. g

4. % b S WM P T

Question Number : 194 Question Id : 59445943821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ethics and values are important in family and society. Values are
1. Ideas

2. Beliefs

3. Virtues learnt from the childhood

4. Moral standard set by the society

Choose the correct code-

Options :
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1. % land?2
2. % 3and 4
3.% 1,2,3and 4
4. 1,2, and 3

Question Number : 194 Question Id : 59445943821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ORaR 3R THTS # Afddar iR I Heayul € | Jed §
IREEIN

2. fayrg

3. STTaRIT I T 10T

4. TS g1 FAeffed Afde ae

Tl Pls -

Options :

1. % 13R2

2. %33R 4

3.% 1,2,3 3R 4

4.9 1,2,3R3

Question Number : 195 Question Id : 59445943822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true?

Options :

1. #® Values are ideas and beliefs that we learn from our childhood
2. # Ethics test our values

3. ¥ Values test our ethics

4. ® Ethics is the way we behave in difficult situation

Question Number : 195 Question Id : 59445943822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Frafifed & ¥ S BuT 3Rd 82

Options :

1. % Tou d fagR 98 GYURUN g f5 89§99+ ¥ drad §

2. % AfIHdl gUR Gl SIS Rl §

3. ¢ el AR Afdehdl BT S Hal 8

4. % A1 98 8P 8 ORI 59 B3 TRRURY & FragR o= &

Question Number : 196 Question Id : 59445943823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Examples of Cellulosic fibers are
1. Cotton

2. Linen

3. Wool

4. Silk

Choose the correct code

Options :

1.¥ 1,2 only
2. % 1,4 only
3. % 1,2,3 only
4.% 1,23, 4

Question Number : 196 Question Id : 59445943823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AN dg b ISR &:

1. PUg

2. fermA

3.3

4. 3311

gl dis fafgd ax-

Options :



Adda 2 l'l 7 GGETJL%'\ie Play

1.¥ $Had 1,2
2. % Had 1, 4
3. % Hdd 1,2,3

4. % 1,2,3,4

Question Number : 197 Question Id : 59445943824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rayon is an example of fibers.
Options :

1. ¥ Regenerated

2. % Synthetic

3. # Cellulosic

4. ® Protein

Question Number : 197 Question Id : 59445943824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ruic] WISER B T IG5 |
Options :

1. ¢ g it (geiifaq)

2. # fdfews (@A)

3. % Yogalliih

4. % OréH

Question Number : 198 Question Id : 59445943825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Polyester is an example of fibers.
Options :

1. # Natural
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2. % Protein
3. # Cellulosic
4. ¥ Synthetic

Question Number : 198 Question Id : 59445943825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WX A B1IeeRUIe
Options :

1. % UTpidd

2. % GIdH

3. % JcGAIRiD

4. ¢ Ridfews @)

Question Number : 199 Question Id : 59445943826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true about different kind of Fibers?
Options :

1. #® Synthetic Fibers are made of petro-chemical products.

2. ® Regenerated fibers are a kind of man-made fibers

3. % Protein fibers come from animal sources

4. ¥ Cellulosic fibers are man-made fibers

Question Number : 199 Question Id : 59445943826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faftre JepR o XM b IR H FAIRIT & 3 DI 1 9 T8l &2
Options :

1. # Hfaw dq Fuor U3 Iare! ¥ farar Sirdr 8

2. % U IdTfed dg A4 HfHd dg &1 Tk TR §
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3. % T g U Fdl F 3§
4. ¢ Ygae dg oHa Rffa dq 8

Question Number : 200 Question Id : 59445943827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true?

Options :

1. ¥ Short length fibers are called Staple fibers

2. % Short length fibers are called Filaments

3. # Filaments are measured in inches or centimeters

4. ® Staple Fibers are measured in yards or meters

Question Number : 200 Question Id : 59445943827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafed # 9 o T Fya g 82

Options :

1. ¢ B daTs & Al Bl }Ud g B8l oidl §
2. % BT SIS & I DI {haic HeT ordl o
3. % firarc &I 39 a1 Y&HeR o HIUT §i1dl 8
4. % WU BIZSR Pl 791 AT HieR H HGT ST &




